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1) First nnpn

a) mwn

i) IR isn’t °mn to say 72 R mph

2) Second nTpi

a) 121 before he was a2 177 said that "o>7v2a 179°113% 7293 0°792 17020 S8R pona"

b) 121 after he was 2 777 and »ax both say that 7>9% P& 0°7v2 17020 PXR 7ponn"
okl ivmiin ki fstai)

3) Third mn7pi
a) A pnnisn’t AR to say 1NnpY on oW URWI? WY 00127



4) Fourth mnpn
a) 127 holds that 128 *%5 don’t count as owa™ PRWY PV 00127
b) 2k holds that 121% *22 count as own? °RWA% WY 0°127

5) Fifth nnpa — table on the mw w of »ax and 727 on when an 12X is 1aR1 to say mp>?"
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a) 1M

6) =) as explained by mooin and R"wAnn




i) The X is K1 in row 1 column 3 — where o°7y2 Rw 17 707 and ¥MRD 27y
1oy — based on the w» indicated in the table

b) xwp by »ax
i) On1D27v2 190K 97 K
i) Meaning
(1) I'hold that
(a) wherever v (as in row 2 columns 1 and 3) the 1% isn’t 1°0n

(b) But where %1 X7 (as in row 2 columns 2 and 4) the 12 is 12°n even
if there are 17°on >7v as in row 2 because of 1AM MR Y2 °R7 3N

(2) but why do you hold in row 1 column 2 that the 18 isn’t yax81 with X7 131
NIRRT AR *¥2 even though 1mxa K7

c) yn by a1 before he was 171
i) 1hold that 2*7v2 w19% 7298 2792 17720 YRR 7pona
7) mooin
a) Nwp
i) The words ">277 °X" suggest that »ax is saying
(1) 1 say that the & is never believed with a 1n
(2) But

(a) Once you 1721 say that 1 is yaxk1 with a »n» in row 1 column 3 where
there are no 77°on >7v and there is ¥1xA

(b) Then you should also say he’s jax1 based on w» in row 1 column 2
where there are 77%0n »7v and there is no 17X

i) But we’ve shown that »ax does rely on wn in row 2 column 4
8) X"wann
a) 1" and n" analyze this &0 differently because of the x*wp by msoin
9) moown at 'a Ty at ponn a7
a) Nwp

i) We’ve established that 727 before he was 977 says the 1% isn’t 7K1 in row 1
column 2 — where there was 0>7va 77°0% and no nX1 — because 73X 7ponn"
0°7Y217°INAY I8 22TV 17N

i) But why isn’t the 12 believed with a y» that he could have said yoix1
b) y»n
1) Thiswn doesn’t occur to the x7na at this point

i) And in the end it doesn’t matter because once 721 was "2 177 he holds that the
TR IS anyway jnR1 as explained in row 3 column 2



10) R"wnn at pona a7
a) Nwp

1) Here’s proof that even at this point the X723 relied on the concept of X7 1n
10IN1 KX "y

(1) 7wnn of the xm
(@) ®xwp by »ax to 721
(i) A xn»12 holds that 0>7v2 1% 9% 7% PR 22792 17°20 DR 7°Ponn
(2) mooin at the end of ponn "y
(@) xwp

(i) Why didn’t 727 answer that another xn»92 supports him because it
says that 2>7y2 Y 2°1n% % 27921720 IR M9

(b) Y0

(i) Because 120 realized that 17po is different from x5 because for
11770 there is a 1o that he could have said yeax:

11) qwni of the X
a) First onTpito a X°wp to »ax
1) Xn™a

(1) If a n>217 Hva gives his n*5v to an % and the 12Xk claims that the n°an
promised to pay two >11°7 while the n>a71 5v2 claims he only agreed to pay
one 7

(2) the rules in this table apply

SR IRT WM T TR IR T2 NOVW T 90
%27 52 591 PRnpY MR
R R0

172 20 VAW 1778 TR htal! a7 Hvab 1o 1un:
oW

TR D37 120 nan bva A7 N2y 27 52 1% un:
R R0

b) Second nn7pito a X°wp to »ax

i) Under what facts is the 1% believed 172 n*uw 11 53 based on a 1» he could
have said 1nnp»

(1) It can’t be that there are 77°0n *7v because if there were 77°0n >7v they’d
know how much the n>an 5va agreed to pay

(2) Presumably 781 o°7v that the n°5v is now 1722
C) Xwpto »aR

i) We established for »ax in row 2 column 3 that an 11X isn’t believed to say
nnp? where 1R even if there are no 7101 7w

d) yrn



i) In fact

(1) If there o>7v that were y1& the 1238 wouldn’t be believed as in new row 1
below

e eals with where there are no at say ¥ and the is
2) The xn>12 deals with where th o>7v that 17X and the 1R
believed 13°n he could have said a"7:7% or 027 Or 1IR3 as in row 2 below

DY 1AvTR TIN PR IR TV PRLw T 9D "Inon K97 0N 1
2 77w MaR nuw TTIRTT 2TV RSN Rnom22
3w 1702
1IN AR IIN IR 772 NOVW AT 9D 2
4 7 2 7awa Mand YIRTT 2TV RS
1702
S0 Yaw a1 jhtati} %27 9y2ab 1% un 3
75w M
Y 1°m nvan Hva phtal Ban) 377 Hvah o um 4
"R X272 IR
12) mooin
a) Nwp

1) Now that we’ve established as in row 1 that the & wouldn’t be believed by
o that 101 for two »13v7 if there were o°7v that woy 1772 17X

i) We have this xwp

(1) why does the xn>>12 need in row 4 to cite 11 72y n°27 Yya% 2 un1as a
case where the n>an 92 is 7o

(2) when the &n>>12 could have taught that even in row 1 where the n°>v is still
1IR7 72 the n°a Sva is 391 if there are o>7v that 1mIRN

13) R"wnn
a) 710 to the xwp of msoin

i) The xn>12 needs to state the rule for n>a77 H¥a% 1% 1na to teach in row 3 that
1112 the N2 Hva isn’t 1aR1 with a wn that he could have said o2wn 7010w &

ii) See W% RoX 11"7 MmdoIN ON . A7 for an explanation of why in fact the n>ai Hva
can’t rely on a wn that 221wn 7200w X7

b) X"wann qwnn
i) Note that in row 1 where there are o°7y that 1% 7°2 37X

(1) the n°an Sva is o is for the reasons set out for »ax in row 2 column 3 of
the first table in this m12°7

(2) The reason can’t be that the n°a77 Hva is 1R1 with @ X% K w2 87 Wn
T°N7ow — since n°27 Hya can’t be W that 7°n1ow &Y on an item that the 18
holds to be jpnn

(3) And that’s why the Xn»92 needs to teach in row 3 of the table above that
there is no 7°n1ow XY AR °va °kT7 11 even if the nv277 Hva holds the item
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a)

b)

c)

The case

i) a0 (12x0) sells a 77w to wra n? (172) and afterwards sells a second 77w
to w P (M)

First 17
i) If 123%7 has *717 °12 a 2 Sva of 12%7 is 7233 first from these »n 12

ii) If 12187 has no »1i1 °12 the 21 %va is 721 first from 'a 77w of a7 and then from
'R 77w of "

Second 7°7
i) If ') 77w was 7731 the 9131 can be 72 only from 1%

ii) But if »% bought 'x 77w with n1»anx then »17 is ann first against 121%7 and his
317 °12 and then against 'a 77w of 77

2) Xn»™M32

a)

"SR RYIR D ORT RN O Ap1R0 YR PwRD "

3) o"awn and mooin are P on the 72 of the xn*1a

4) n"awn — K2 of the xn12

a)

b)

Part 1

i) The xn>>12 deals with whether "% can be 7y» for 777> against a 2y who
claims that 'a 77w of 7770 is 77

ii) Now
(1) if a7 bought only 'a 77w from 32187 then "% is a ya because he wants

770 to keep "2 7w so that any 21 Sva of 120 will be 72w from 'a 77w of
77y and not from 'R 77w of M7

(2) but if 775> bought from 72187 also 'a 77w for which there’s no 2v7v» then
"% isn’t a ¥a1 because any 2117 Hva of 1% will anyway be 721 from the
" 17w of nmi before he’s 721 from '} 77w of "%

iii) And this is what the xn>>12 means when it says

(1) " neanR RYIR [P Ap122] D2 KT RI I 0PR0 IR PwRY "
Part 2
i) Note that

(1) A7 can be 7yn for " against a 7y y»n who claims that 'x 77w of »17 is
77113 because if there is a 2171 Sva of 12187 the 217 Sva will be 723 from 77w
'2 of 77 regardless of whether »% keeps '} n7w

ii) Now
(1) this applies only if » bought his n1» nxa X5w 77w so that "7 can’t recover
against o7y if the ayyn is 7w from 1%

10



5)

6)

7)

8)

(2) but if »17 bought his nanx2 77w then — unless 12187 has »n °12 from which
"7 is man first — 777 can’t be 7vn for »17 because the m17v benefits him
and he is a yan

X"wamn at pwR n a7
a) 7oRw
i) Then why doesn’t the xn>>92 also teach that

(1) XYIR [12087] 017 % DORT R [17] WK AP0 YR [AT] v npyh”
"SR

b) nawn
i) We’ve established that

(1) whether »Y7 is a va11 depends only on whether a 211 5va of 12187 will be 721
from a 77w other than ' 77w — it’s not relevant whether "% bought his 77w
nranxa

(2) While ami is a i only if »17 bought 'x 77w with nyanx
mooIn — MR of the k12
a) "2 bought '& 77w with nyanx

b) The xn>1a deals with whether "% can be 7v» for 777 against a 2y yn ['R 3 wn]
who’s 1310 that 'a 77w of a7 is 72m

c) Now

i) if 7717 bought no other 77w from 72187 then »17 is a ¥ because »7 wants a7
to keep the 17w so that if there’s a later 2ywyn ['2 qvawn] who claims that 77w
'} of "% is 771 — % will then be able based on his nyank to be i against
'a 77w of ami

ii) but if 7770 also bought '3 77w from 32187 and there is now no 2y y» on 'x 77w
then »17 isn’t a ¥a11 because »17 based on his n1anx will be 7211 from '3 77w of
a7 if 'R ywn prevails against '2 77w of a7 and it also turns out that 's 77w
of »% was 77113 from a '2 2y wn

iii) And this is what the xn>>12 means when it says
(1) " neanR RYIR [Pw Ap122] D2 ORT RY I 0P YR PwRY 7"
M¥pa
a) o"awn says that »» is w>n for a possible 217 Hva
b) mooIn says that »1% is w>n for a possible "2 9y
Twni of R"wammn
a) Xwp

i) Since for the v w of moown — unlike the nv>w of o"awn — the xn>12 deals only
with where % bought ' 777w with nanx why doesn’t the &n>92 also deal with
where

11



(1) "% porT RN [M9] PR IPIHR TYa nIaRa [ a7w] mapw [AT] caw npth
IR RYIR [J2IR7] 0m»

i) Namely

(1) if 12387 has no >an °12 then a7 is a ¥a to be 7vn in favor of »1% against a
27w on 'R 77w because if the 2ywn prevails »% will based on his nanx
be 2117 against 2 77w of AT

(2) but if 32187 has *an °12 then 777 isn’t a ¥ to be 7v» in favor of »%
against a 7w1vn on 'R 77w because if the 2y prevails 7 will based on his
nrank be i against the »3n 12 of 121%9

9) Twnn of the xn>>1a

a)

RYIR 92 D2 ORT RIT [RO7 72973 M27 'R 00 012 WK 0w 'R wwn 73] Mo Tyn 2w
['2 >71 °12] "N

b)  RyAR M5 % NORT R [ROT A2 MDT IR 00012 WK 0w 'R Wwn 7] M2 Tyn mon

['2 > °12] *n>nR

10) mooIn wnn

a)

b)

c)

We established for maoin that »1% is wwin that a '2 9y wn might appear who’ll be
w0 that '} 77w of 12 is 721m

Xowp

i) Why don’t the m%» and the 27y count as mv2 Pyl even if m% owns RyIR
'3 °917 °12-°n"nR because they’re wwhn that there might be a 2 svav» who will
be 7121 the "2 >3n °32 of M

The y1on of nooin isn’t relevant to X"w27n here

11) X"wonn at pwR np? 782

a)

b)

Rowp

1) Just as m»poin asks for its own mu*w that there ought to be a 7v°31 based on the

wwn of the m%n and 27w that a possible 'a 7yav» might be 721 the snoank XyaR
of the m>

i) Why doesn’t m»oin ask that for o"aw- there ought to be a 3731 based on the

wwn of the m%n and 27y that a prior 217 Y¥2 might be 721 the 'a »3n »12 of the
m?

YN

i) The 27y and m%n aren’t w>n because they’ll be 7091 if M> loses his 'a 7 °12
to a prior 211 Sv2 only in the non-m°>w case that after the current 2y-vn is 721
the '} »717 *12 of "% both of these events happen:

(1) a prior 2 Sy2 appears and is 721 the "2 >7n7 212 of M°
(2) and the m% isn’t myn ¥y710 to the 29y and m>» on their R
ii) But > is w»n because

12



(1) if a7 loses his 2 77w to a ayyn then »% will be o917 if a 217 Hva is 7an
his 'x 77w and even if 32187 is later myn vy to M

(2) because "7 as a npY? wants to keep the ' 77w that he bought and isn’t
content to take myn instead

T qT

D'y a2"Thi XanX Xaw'? a1 0"awvwn

TARR INTI PWRIT PaAR 1D 2102 K" 7''72 2"awnna [R Ty ™ nT)
By OR 97X 122 ARPT IRP 71019 Y907 RNDART YRR 9977 9oy "o Kan
T3 92 1PIDNRR 29AYD R2T MARP 7YY "D RITD 297D AT KD OTINT 23
=y
7''2 "oy "2 1IN 32 19T 32 32 POYR ART N7 "1 Jaw 2vnye 772 'oan
RS TR RDT7 77372 KON 5% X297 IRTY 1IN J2 27w 29507 b2
9D AR KD AR AN RAR ONAT AT PPV T IRT M P
A1 5192 M2NNEY 77 NIRT 9T 12 1AN 22T PO DA JATA 7177 KD 19aNT
1T ROMIAR NT2072 9" n7van 959 12T 'Y 1AIR J2T RMAT XPIT TR
N7 RNADAT 21 1170 DD PAY 10 WD P KT AP0 W PR RPN
1772 Y3997 SR AR WIT DIYR ROTIIR NIRRT 1915 12 12% wpn KD RIT 0w
5D 321 "o pRwaT o' PN MDY WY AW TaNTRY RIN J2T N7
SPIDRDY 'Y IR 127 RO IRTITA IR YD 20T 1018 12 127 R N
R® 2''RT "1 INWT 92RM TART TONIYYR ONRT 191X J2 j22 ew a'awen
T2'N7Y TR 327 RANT I
1) X
a) "M
i) 7P PR IR
i) mpmIo we MR A
iii) 7T 32 PR 121 121 oM
IV) P I? wo 1om Hw a2
b) &5 21
1) 72IRD IR A7 10192 AR 0TV CNRTA APT R WO RN 12

i) 777 WK PVRIT 191D WY 77T P2 AR DTV ONRTA 12O P17 PR 191 12
M9 TINN 191

C) a"2w77 'R RO DY — K2
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1) °2RT 702 190 MIART R2IRT RNIWDA DR KPT A0 P10 172 W1 1213 12 19°OKRW D°nvD
121

d) o"awn7'2 X0 °9H — KA1
1) 72727 7IW02 W90 MART RIRT RNIWLA DR RPT 1A 7RI 12 PR 1273 D0 112 12w 2°nwd
2) o"awn at XK XD 0"
a) Both mxona in X217 are correct 177 731
b) But the first o3 that deals with 1713 12 is preferable
3) X"wann

a) o"awn prefers the first xo7a that deals with 7213 12 because the & of xa1 follows
the x> of X375 21 that deals with 7913 12

4) mpooin at o°nys "7
a) xwp of "
i)  Why is 7213 5w 112 12 not 1ax1 if maRT XaRT XN SnKp

ii) The fact is that he was w1 from 77137 12 maxr and we ought to be "% 1w that
12137 12 1ax would have been 1310 to the vy that anar 70

b) y1vnof "n1eR"

i) for 1217 72 to be 7w that “n1ar 73 is m°ow X and we’re not 1w for a wor a
7Y that’s mow K>

5) Twnn of °" as explained by R"wnan at o°nys "7
a) We established that jam1° "3 says 7pmm 12 @ 1213 5@ 112 12 7P 12 w0 12 12
b) Now
i) For X 2it’s a muwo that the reason that pm 1o w»

(1) Isn’t because we’re 12°1yv for him as w1 that max the 1x would be 11w
that in1°ar 7°n — since this 7avv wouldn’t avail to the 18 since apmm 17 PR

(2) But is because he brings o*7v that the 2v1v» was 7717 to his father the 1
i) The same applies to 7211 5w 112 32 that’s listed together with 32X 12

(1) His nunri1isn’t based on 7 11°1wv because as we’ve explained this is a
mow K97 MY

(2) Instead he’s 7R3 only if — the same as 1% 12 — he brings a°7y that the
qvavna was 777 to his father the 191377 712 because we don’t assume that this
TRTIT Lo @ 121 12 1S T niann

INININN T 2" TN

7957 5"y "D INDOIND T DOIRT NIAT 1D WNIMING 70 7''72 'own
AR AR NIRRTV MR TR PUNIY KOUX WD KRR IN0IRR
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TR NONTT INDIINR AR TV RWT AR ORIV TR YRR 72 PN
2902 PR WODY TWEN TAIN2 DaAR TR PIMA KR 7 2%0yab e
TR ROR 272 PRI PITYY 2O9ab 2T KDY AR PITY IR vwa
WYY 7739 XYW IPND 292K R IPND 2990 19 RI2OW 9 DOW INININA

'™y 97 TORDR TV

1) xn™n
a) PTR W1 IN0IINDY WNINRA T
2) mooin
a) "NOMIRA TT OIRT RIAT MNIARA T
3) X"wann —x0a of mooin
a) TP
i) 7 for an % occurs when he no longer accepts o°%> for repair
ii) 77> for an o) occurs when he returns the mo»x 77w to o°%va
i) "pIn Y9 wo anamRn 7"
(1) might mean that an 1% has a nprn in 295 that he took before his 77>
(when he stopped accepting o°2> for repair) and that he still holds after his
oY
(2) or it might mean that an 2% has a npri only in 2°2> that he took after his
oY
iv) but "apm % W anoeIRn 7"
(1) Can’t mean that an o has a npin in a 77w that he took before his 77>
(when he returned the mo>x 77w to o°9v2) and that he still holds after his
777 — because he can’t still hold a 77w that he must have returned to bring
about his 77>
(2) And must mean that an 0>7x has a 1P in a 77w that he took after his 77
b) mooIn teaches that since "IND™IRM 777 02IRT KMIT INIRA 77" it must be that
similar to an o> an X who is 1na2%n 770 has a apm only in 29> that he takes
after his n7°2> when he stopped accepting o°%> for repair
TN qT

nwlIan 2"t

INWRAT 'O "D RYIN D TV ADY "2 NI 1172 [2 TRy 1 0T
N7 372 RI9 KDY 3AP972 7RI 70 PR RDIMR RPN 72 77992 DR 77N
192 RYIIN 79 777097 779 R RIT 28 237 {920 M5onT awn) a''awnss

5=y TN 3997 RITR
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1) xn»Ma

a) an nwx who is nwIa 7K1 N can be otin in 3%va 37w even though Sva is
M 2en

2) o"awn

a) yaisn’t 7 a 7w for nwaaa 7K nwaan awk so if the nwx does eat m7°o from a
77w that belongs to 9va she has a pin

3) moon as explained by x"wamn
a) “vacan be n™n a 77w for nwn ArRY nwaan nw the same as for 77 INwR
b) The xn>n2 teaches that

i) ifHvawas '} 77w 77000 for mnm of nwan AR DA Inws she has no apm if
she’s 1 herself from ') 77w but she does have a npin if she’s 111 herself from
'2 77w that Hva wasn’t 7> for her

i) while 77m3 1nwx has no npn even if she eats from "2 77w

T0va 7ax 2" Th

273 221 IPR VR 'Y IND NPIAR 22T 22 " "vwa bar ''7a
T9aR K97 TRWNIDWD NWI IR N DT KT B''OY "2 9"V nINNR 20
RO 07 PINNT PO DAk 011977 22 PRI '22 '0IN7 21D 9T NN
N2D DR PR WA RPITT POIND 27027 PITRTR ROT IR 2502TR
R X7 0''0 IRD NIRRT 27 77 710N MU PaR "'V NN 2n
21T DIUD '0INT RTAD TINR WA MR N IR MY
1) Xn»™ain w1 aw o P9 in oo noon as explained by 21
a) VW2 NN TV D02 PR TWRT 1 IPD 2"IRY WORT 1M npb
2) p»™2in M2mno noon
a) npn is Hva even if quw mand
3) mooIn in v Ndon
a) There is no 77°no between the mn»92
i) The npn isn’t Hv2 if the 7wX was n1»nR 2apn
i) now
(1) The &n>>12 in M21n> noon deals with a avw in which the 7wk was nwa»
that she didn’t accept nyanx

(2) The &n>>12 in w2 noon deals with a "vw ono that was silent on nyanx but
for which nyany is 990 My

4) mooin here
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a) The &n>72 in Pwa noon deals with 25nmy npn aww for which 29 holds that nvanx
7910 NWY

5) R"wann
a) First xowp

1) 9907 1 "on Py because Mmoo here doesn’t explain that the Xn»92 in M21n>
deals with 7w sw 7w that she’s not accepting N1 nx

b) Second x°wp
i)  Why does mooin here emphasize ammy npn s ow
C) y™n

i) Must be that — unlike n»oIn in w3 — Moo here says there is no 77°nd
because

(1) the xn»12 in v deals with om@1 npn »avw for which n1anR is 990 vy

(2) The xn>>12 in M21n3 noon deals with 7ann »vw for which nrank isn’t My
7910

.Nn QT

INIX 2" 2" TN
2'"es oY 139270 M T AR W 15 MR 290 7172 [R TRy 7]

N1210 XX 2" Th

H'"oY "D PDIST 2NSRD J27P Y23 RIP VIR ORAR 1D X920 RN 7''72
YTIDD ART KPR JYRW KD 121 M3 0N 2ART RN20127 3''YRT N2
DNIWNIPR JRRY 1DRBT ' IMR NI 7'an By o msnT hynw K ban
PPDID N WY NIXR DOT TWRONR KD 121D 727 DY IRNT 01 JRwhT
R"Y2 nEp aw 2z AR 1''a7 20 '0INa 11''0Y "D 7Y Pna JIRRTS
Y2 XD 21002 90D IND 92D PIRT R''TOT RO RIP PIVIINT 2w
oA 'y

1) X

a) 171 73 POIIR 2AKRT 12T P17 Pan 17770 RI17 27 MR
2) Xn»2

a) M7 MK 27 teaches for 127p that "R 7317 RW 79 MK Pod"
3) mooin

a) Nwp
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1)  Once we know &1207 that "73pm1 2na o1 23R" why does the 2105 need to
teach that we’re 2pn a 1279 for which we were 1M 19912

4) R"wan
a) Nwp to the xowp of mooin
1) Why didn’t mo01n answer that 1nx 27> teaches that there is a 2117 to be 11912
b) 10 to explain the x>wp of mpoin

1) 77 n0ais oo for all nwy nen so it can’t be that 1R 2>p° teaches that we
need to be 91

c) wwp

i) Moo in mwn wRA ndon mooin is in fact yann the Xwp of mooin here by
saying that 10X 2°9p° teaches that there is a 211 to be 17910

i) Why isn’t mooIn there 7>997 this y17°n by noting that 17 n°2 is 11912 for all ngn
oy

d) y»n

i) without 1mx 29> we would have said that because of 11¥7% there’s a special
rule that we’re not 1912 for n1a7p

AYIYN VA NN

5 H'"op "2 D105 SN2 T2 KDOOT 9B MATT BN 15 AwIYn v 7'
SN P2 R3S 1O

NwT TN NIvoIn

N7 929 910 12 MIN2 MWD 292210 TR RPN IWOPW HRIOT 7''N2
Mo2IN2 17" R'"oY "D ORI PI0D DR RYRD WOYW 22010 YTaw
M0 99772 2''RT2Y NIDDINDY 1IDER RPN Bar PAYRwa w''Rea)
NOT3 90 ANDTIA DY 9572 AW 'IDT IV IIT D72 ROTIAT KON IR
T OIR IMIND RWIN2 AR PWDY 70972 DD WY PAYRwa v 0T
BRIWS 91977 MR RRON2T T ROVIAD 7M1 37 SR "SEN AR X221 "1
WTT "D IT R MIND RPIT MWD 292210 AW WYR VT Y WY
WIAAT P52 DRIAR ARTS PIDD DRIWIA 1910 IBR 1ITD ROR'T 197 TRyn
"BR DI0D IR RWYR VMY WOYW 292210 72 NI1T MR RDWA
191y 3979 99777 19 37 AN MINA

1) mmpn

a) mwwn va for Hva who says 01197 SR 37 1K S 172

b) nwwn va for Hva who doesn’t say 01797 51K 37 "R isn’t 172
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2)

3)

4)

5)

C) “Rmw says in wanan pao that va that’s P75 ROW Awwn is 2100 even vIm HRW° 2172
SRS

Xn»12 as understood by *"1 in m»oIn here and by w"xA

a) v that was nwiyn by a 0™oy v is qws if it’s directed by 28w °1°>7

b) A i that was directed by 0"y °1°>7 is 2109 even if it was 7wiyn by a PXw° van
mooIn

a) °now1 is consistent with the mvw of "

NeriARK
172 AT 191 77 21K IMINA AW | 0"2Y nuam YRS 17
TITT T OPR M0IND WOEN D00 | OXW° nwam "oy 1T
773

R"wAn

a) moown and w"x and 2771 in Pua non bring the *now17 with an opposite xo7x

ReYARE

T2 MAT "1 77 OIR IR wa | @™oy nuam YR 1T XU 7777 RO

T T IR MIND 170K D00 | SR nuam ooy 1T X5°0 77°7 ROMA
772

772 AT 91 77 OTR MINa bop | 2"oY NLam PRI 2177 RWST U3 RO

VT 1T OIR MR 170K Tws | ORI nvam o™y 1T NDID PPUIA3 ROTA
7

b) This X073 isn’t consistent with the mu>w of "3 but *>77% in v noon explains how
this &0 can be read as consistent with the nvw of *"

R"wAn

a) the o in *now17 of Mmoo here is more 12non than the koA in *n5w1° of MvoIN
in v noon because

i) the xo7x here correctly says
(1) in the xw»n that the vx is w2 if it’s 172
(2) In the xo°0 that it’s 7109 even if it’s 172
i) While the xoma in puwa is a X°wp because it says

(1) In the xw™ that the va is 7109 only if it’s 172 — where there ought to be a
10w 92 that it’s 7109 if it’s P72 XoWw

(2) In the xo°0 that the wva is "w> even if it’s 775 — this implies contrary to
SR that it’s a 10w 75 that it’s qw> if it’s 170 RHW

N21 X 2"'T™h

5oy 15 RI1T 292 ''9PT 91027 N7 KD RYTIN 907 2N 15 X239 MK 7'

292 B'"PT MDD TIVROR KD N72T7 ROITIDT TWYNK 70 TROTR RP KD
TPOURT RPN DOUD JIMMARTS RPTIA 7792 SLTAT 02 TR Al NanT N7
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S9N RYTIA J192057 K117 270 290 K113 9227 3RP "D 1A 1907 Rnb»

2"y "o '

NN q71

InN1 21 X A" TN

ROV SPIRD MYORT 297Y W'Y 12 1AM 20 MWK 171''72 [2 Ty e 0T
S'"HRT 2ITYY MMARY 192 PRI T FINDI IR JAM2 20 47 Doy N0 N o
|20 9% TIDW N7 1D IRR "D T2 RTI20 OR 1D 9210 RINT 299 57190 D ORD

'™y 'oIN2 WYY ROUR OPIIRD ROWRT 29TV INR 1290

1) xm
a) 7M1
i) 0WT DR P07 PRI PR 1T 1T AINKR DR T RIT IT 2N MKRY 2T
2) mooin
a) This 17 applies even where anx 0pnn XX 07 202 1R despite the wn that o7y
have that they could have caused the m?> to be 11511 simply by saying 7 2n2 1 PX
b) xwp
i) 3mm1 27 holds that ¥»p% 777 1200w Twwa 77 because otherwise the mY is 1ax1
to say °nyo based on 1 that he could have been %019 the vw by saying it’s
QN lva)
ii) At.7p 77 the X7na says that XOw? *»1MIR? 07 MO
iii) So it should be a 10w 9> that 0°7v should be o°1mx1 based on 1 to be S0 a
Y
3) X"wann
a) TP
i) °Rn " holds that o°7v aren’t 2uwY 317K 1181 with a won
ii) X177 27 holds that 1*p% 7°9% PR 1200w 0Ww2 77 because a M can’t rely on
NYID MK WY ORT AN
iii) 1mm1 27 asks &7 21 why he didn’t say directly that he agrees with 2°&n '
because presumably x171 ' holds that just as a m% isn’t 1K1 to be vw? *»1K>
with a 1»n the same applies to o*7v
b) xwp

i)  Why does a1 21 assume that k171 21 agrees with 2°kn " that even o°7v can’t
rely on wn to be Q0w *»R

i) Maybe x1:7 27 holds that
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(1) although a m> can’t be Tvw *v1Rwith a wn
(2) ov7v that are »»°9R are ™Mvw *¥1MX with a wn — contrary to yam 20
C) y™n
i) Must be that 7am1 27 himself doesn’t say that Q0w *»17IR? 027 "R

.on q7T

'WN Q1 N2 AT NnIvoIn

2IPAR RIP 377 2NoWST 23 DY AN "D WK 27 2 972 1772 [R TRy vn 7]
NZI° 379 202 PR RPIT K7 MMRT 1319 2R 997 9''op 10 181 PR NN
WD RY 2" 2w 0D NIDSINT WA 11D 2N N1 ARPTA MR 2Pnn

AR

NI A AT

RIN TRV a7 MR D' 19 K170 27 K92 1KY 10 RIS 2970Y 7' 72
ARPT K7 O%1 RAINT RITD 2977 W1 909 X% 2'"'R7T p''p B'"oy "D MM
Q%27 1°7 'nw’m'r mp’? W'D TARI ORI AN INRIN 1T "D OHY TINR
A1 MINRY DR IMT INNTY POWNIP RITT 2R 19 7KDY MINKRD TN KD
7'"% "D NITD 20 N9a TRDPA NP BT AN TP NI0D INWT AR
FIRTID 1A' D aa awp N7 BaR ' pb NPI7 798 12 73197 NI0D INWN
TRWIYR AN GIRWT VDR IZIN 2''7 'OWY anwn PODT NIBYINT ""ATR
'nwb: MR 2YT AT DWW 1D DR NI RITD 277 DANR AN ORIN
"o ARYR MINY ROTT AW PINND PN 19937 0'ph ban "oy
2"

1) nn1pn

a) o°nan were Jpnn that Sya eats m7°o of 219» *oo1 that belong to anwx
2) mwn as explained by the X

a) Hvaloses the right to mo if "7»0532 °% PR 072771 17 72 200"
3) xn»™M2

i) "D193 MR RD W AT DY 00 PR 22T PT nRT”

4) X

a) The xn»™aisn’t a 77°no to the mawn because the mwn deals with 7oK A7Iw2 7% 200
and follows the mu w of X170 27 that 2P [725 17 AR2 XKW 93] 12 XA 7°m"”
"M XOW OV mann 7R [13297 mapna) anx
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5)

6)

7)

Mmoo — np1onn of "oownon v and 0"
a) DWwIon W

i) "o a7 700 PR s a vy ' because if it were a 210 WY it would be
effective also for a 123 1% 718277 %M1 — meaning for aRwWwi WK

ii) X175 21 teaches that even a 113 Y is effective for 7o01x 77w2 where the 75m:
isn’t 92379 7R3

iii) And it must be that 1775 21 deals with a ¥y W% because a &°2vn xawH would
have been effective also for 125 17 axaw 75m

b) "9

i) although "oa71 17 °% PR" s in fact a vy WY it’s a muws even without 21
X170 that a y17a 1w is effective for a 7%m1 that wasn’t 12019 X2

il) Instead the X3 relies on X175 21 only to prove that a person can be ponon
even from a 07> X2 X5w 927

Twnn of mpoin
a) TP
i) Xn»ra
(1) 7231 MDD ARW LY Y PRW NI DY 0 NWTIPA DR 077 TWRD MR
(2) ©p WIN PMPAY 7272 WX AT
b) xwpto "
i) This xn» 2 already teaches that a person can be p2non from 021w X2 X5w 727
i) what does x1775 21 add
c) First y1n
1) "M ORIN WY ang IRe"

i) The X nx needs to rely on X172 27 to prove that a person can be ponon from
071w X2 KW 727 even when he didn’t express his ?12°0 as a *Xin

d) Second y1n

1) There is also a second y17°n in Mao1n whose 2°v75 aren’t relevant here
R"WN
a) xwp to the first y17°n

1) X170 27 also deals with "a7x mann" where there is a °*Rin

i) So what proof is X175 21 to the x7na that a person can be ponon from X5w 1271
07> X2 even when he didn’t express his ?17°0 as a *Xin

b) v1vn of X"wann to be aw»n the first y17°n of nvoIn
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i) We established for " that we know even without x3770 21 that 197 °% X"
"0°127) that’s a ¥173 WY is as effective for what’s not yet 17°7 X2 as any Riw»?
X*yn including any " *xin"

C) Xo>7®
(1) Then "nn172 ®wp X177" — what does the X of R332 27 add when we
can rely on
(@) the xn>2 that teaches that a person can be p7non from X2 Xow 127
o2wo with a X5y R s
(b) combined with the X120 of >"1 that a 3173 WS counts as a X*2yn Rw°?
for a 7%m1 that 17°% X2 X7 *nox
d) final yyn of X"wann
i) Return to the xwp of m»ooin on why the X of X170 27 is needed once we
have the xn»92 of nwRY MR7
i) This xwp applies to o>waon we as well as to *"1 namely — 77x0 the 1w of the
XN*>12 is a 3173 w2 so why does the X3 need to rely on X175 21 to prove that
13 Y is effective
iii) The first y37°n of m»don is a y17°n to the xwp of mooin as it applies to w»
ag7ihalal
(1) "o7x 7ann" with a 7ma oxin s actually a 210 M and that’s why the X
can’t rely on the Xn>M2
(2) But the & na can rely on X372 21 because we’ve established that owaon w°
hold that the w5 in the case of X375 27 must be a ¥y PW»
e) Nwp
i) Then how does mooin answer its X>wp to >
f) yrn
i) mooiwn relies on its second y17°n to answer its X*wp to >
:on O971

7'09T 21 N"NI T"N2 NID0IN

IR I9DIT RN URWT 99 "D 25T 29 n'RY 7'RA [2 7Y v nT]
TIBY TINR QTR MMRT RITD 29 ¥R B0y "D 29010 WK WY Dyav
YT QORI IR FTODIT STRAMA 21572 91 RT AR "D IR RYY
RI77D 27X 2990 ORTY 297 ORI MY PENDTY 1937 MKRP 71''DRY 2010
190 PRNDITD D12 TIDWT 27 71T 572 INK JMPIAT NITID N2ADT KON

T2 'Y7Y PRIY P OB TO2 1IN

1) First nnipn
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2)

3)

4)

5)

a) o mon were Jpnn that Sva eats n17° of M%» *oo1 that belong to 1wy
Second 7P
a) mwn as explained by the X

b) “va has no further rights in m°s if "9°°0512 °% PR 227277 17 701K TIW2 79 200"
based on the nv>w of X172 21 that 730 27X [13297 7IPNA] NX PR 17 ARaT 7om"
"TIwa XKW Yoy

Third 7P

a) 20 disagrees with X172 27 and says that 2 can’t be p?non from his right 731297 to
be 1nwx 021 w1 because 7N YWD 0272 PN WY oMM

mooIn
a) Nwp

i) For 27 why does the mwn say that >v2 has no further rights in ms if 7% an>"
0512 7% PR 0°127 1T

b) y1nas explained by R"wann

1) 21 disagrees with %175 27 only \nwR nw17*2 where if he loses his nw rights
the o°051 would pass over to "o»51" who are 1nwy “war

ii) He agrees with x175 27 on 2197 °021 M1* where after ,1%°0 the m7°s remain
with 1nwx

Twnn of R"wann
a) ToRw

i) Why does m»oin assume that &1775 21 disagrees with 21 and refers to 1w °031
as well as to »%n *031 M"d

b) nawn

i) The words "mawa» x5w" imply that X370 27 says that the p17°0 is also effective
for \nwx nune

MINXNY AWUN 27D 2" TN

N2IWHT YRR "D 32 M RNT RMAWN IR 2" "D TN a0 '
PN AN2IWDT T RIT 277 ONPR ORR TEDT PRI Doy "0 N1 TYNT
R D192 K7 200D 579013 ' WAIDW 1D 77120 INIRD PO SR M 919
N7 K2Y PRNOTY? RONT 9129 KDT R2ORY TN N2 RN TN 2O NawY
SR 'IBR NYINIDAT TIFY IPNI IN2IWDT 190 PRNDIY DN TRWNTT MR
N2OR N2 17O D77 W'D RIPTIDR PRNOR Don KD nawd jpmw

1)

t2'1YTY 0TI FITIVR RPIT N PRN0NAY D1 ORI AT MY

First 7a7pn
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2)

3)

4)

5)

6)

7)

a) "7 AwYn Dnn M WK upn
Second nnTpn — 27 MR R 27 as explained by 2"aws and nmooin

a) "MW PRI DONIPIOPR MRNW WK a212°" because the mapn 2w was for \nwr nim
and 11501 7N’

Third 7P — 0"awn and MooINn
a) 71PN AN MY HYa upn
Riglab!

a) Since 21 7mR X171 27 said that awx can pnon herself from maa it follows that Sva
can 01X 77w2 be ponon himself from mvs

2"aw" — 7R of the XA
a) The X3 means that we derive

i) from 27K X117 27 that "1ow 901 10w 55" that 7018 372 — when Hva wasn’t
79 in MEY anvYpap —

ii) that >¥a can say I don’t accept the 73pn of P9 and | waive my rights to the
mpn of ms

mooIn
a) xwp of X"awn to o"aw"

i) it’s ynwn from > %y AR P9 that the 73pn 7>y of M7 was for npo and
11Mon1 7n2w? and that Hya can’t say "n1p°0 NIpN oY Dapn SR

ii) and by the way because of the wwn that £°2513 >72w 7°2 vavn Raw even the nwx
can’t be ponon herself from n1p70

X"wann
a) Nwp to R"awn

i) The fact remains that the X723 here holds that va can 701 n7wa be ponon
himself from n17°0 based on the rule of 29 An& 8177 27 for My

b) Second xwp

i) And we’ve also established that even the nwx for whom 71999 is 72w can’t
be p>non herself from 17

c) Possible y17°n to the first xwp
i) X"aw" understood from o"aw" that

(1) “va can be p7non from m7° and avoid the mipn of anpao even for nwx
R

(2) And that o"awn was 720w that "1ow 921 10w 53" that Hva has this right 77wa
7O

i) Now
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(1) x"awn agrees with o"awn that Hva has this right 7018 7792 for the reason
that X"aw~ gives because then Yva wasn’t 727 in M99 Anvypp

(2) x"awn disagrees with o"awn that 5v2 also has this right for nxyw: \nwx
9T

NNn'7'N 2" TN
RO 19IDRY "D WND® 'R RN 790 "D R 772 [N TRy 1 7]
RP1T 2MW0RT 70mY Spa RY 9''op "2 DU nYw TV 2vp PR mTw
90 ANBRD BUa WPRT WA 70 T MTR '3 RManD upl avp mpnT
DU WIPRT TIDIA N7 2MAT MY RDIN IBW KT WD 10 aRT} 70 17T
RN129% MITR '3 upl {7990 NYW TV 2P MPRT 2R INDY 799U nywn)
2"2w WA 327 {Sua wpn} 729 790 7T W'D 2051 INWD NPT
YORY TIDM NPR TV 2P PR MITR A2 19IDRT AR RNDRT RURIPT KON
5D ANDRY Va2 PR PRT 2IVD1 INW WIPRD 5B 2'"HRT nbRY bua
SRR NN20 7% IAPD R'MawN PIRPTR WD RNT RV IND KT "0
2T
1) nwn as explained by o"aw at Hv1a wnpn "7
a) The case

i) %yasells his o°021to a npY? and 1w sells to the npY> her May*w to be 721 her
m21n> from the o031

b) the 7

i) "Svanpn" — the npn from the nwx is Pva because she can say *nwy mn nm
"Hyab

2) X
a) %Y KR

i) 21702122 7% 2nOw NNR MTw 'Y RPKR 70731 X7 — because these o°oo1 are
"0 7% mTanwn"

b) xwp

i) °xnvwn? — for what o°001 is the nipn not Hva
c) 1IN

i) For m7w of Hva ("m7w “xw") other than the m7w "
d) xwp
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i) For m7w aRw it’s even more 12anon that an 7wk can say °%¥2% sn°wy M1 nm to
avoid 72°r by v2 who complains that the m17w "s are enough security for her
ppmbigh

3) X in mano as explained by >"wA there
a) The npn by the nwx for m7w IRW is o»p
4) mooin here
a) There is no 7 no between the X 3 here and the X373 in main>

i) The X9nx in M2wn> means that the npn is o»p until 79°v YW when she’s later
TWIANI OF 713A9RN3

i) The x7mx here means that the npn is Pva at 790 nyw

b) mooin then adds that the xmx here holds that: nyw 73 0»p wpn M7 32 19°0KY"
"7970

5) R"wonn
a) oRw

1) Is maoin by its 119017 saying that the wh7°r of the X°x0 on m7w '3 is that even
for m7w "3 the mpn isn’t °InHXS Y02 and is instead 2> until 79w nyw

b) nawn

i) Can’t be — because the point of the x>x10 is the reverse — that even for my7w '
where it’s not so 12non that the nwx can say *>v2% *nwy mA nna still the npn is
Sv2 from 797w nyw and isn’t o°°p permanently

c) anTpnto the qwnn of R"wann

i) Although it’s more 22non that o»>p nnpn for m7w s where it’s less 12non that
an nwx can say °o¥2? Sn°wy ma nm

ii) Still if there were a XKk M7 that the npn is An%X% 02 it would be more 1anon
to apply "n%& Hva to 7w 'x than to m7w “xw because — as explained by
mooIN — "NTANWNHT YPIP 72N DR 20"

iii) That’s why moo1n explains that

(1) still it must be that the &3 holds ¥952x for m7w '3 that the npn isn’t Hva
an5xR> and is o>p until 79°70 nyw

(2) Because
(@) if for m7w 'x the 17 would be that the npn is noKX? w2

(b) When the x7nx asks & *0wn? the &3 could have answered >vwn>
0°021 IRWw where the npn isn’t ANRS Hva

d) xwp

i) How can nooin say that the X3 could have answered that >R *v1wn? applies
to 0°021 7Xw where the npn isn’t InPKR? Hva
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i) When this ought to be a mvws based on n7aywni ¥pap 251 0IR 9

e) yn

1) See &"aw" at the end of m»poIN Who proves that this isn’t quite VWD

qQiAn |7 Y20 2" TN

772 RXY1921 2" oY 12 19027 BY RPIT 1ANNT 00 K1Y "1 IR "20p 7' 72
WINTT 2N AT NIAT IPIPD IRD NI AP N20PT T 1172 MM KON
RAR VP "M PR 1NRNR DY RPYIT 10057 "1 1vann 202 157 1o
TIAPVT MM RIR DWW N7 NINID P12 7O0 RPOOAT MIAD 79 VNN
RYTR 9127 5170 100N RATR 21D 71T ARPTD 7199 9997 11N NPT 2R

1™y 2w W 1B

1) anpa—Rn™32

a) a1 "> M7 IR 10MY RIW PODY 172V DX 1M

b) aoxw

i) Q%717 IR O P72 PR IR W ORT

c) 7awn as in this table

ik p)ia)
POMN IPRY 2107 R | 1NN RITW 2197 13w RN
1900 RIW *I0N 1AW | 1903 IRV Y107 WK a7 "
1902 RIW *1071 AW | 10NN RIIW 107 1IW° 01 "M

2) X

a) T°Xn " says that oo X 2P P72 Y 19M because T AT PIPD MO PIp

b) 17 " says that 27712 W 01 172 1°R 12 because 7 7137 PIp IRD M 7Ip

C) oY ' is pown whether M 171 IS AT IR

Spa% MWl

md PIp np1o oM
HT AN PIPD | PNANIPRY 1IN 1R | POAN RITW 107 11 RN "
HT AN PIPD NG | 190D RYIW 1D WYY | 1D IPRY 100 WK AT
PODY Y RPOON | 190D RIW DN WS | PAAN RIAW 2101 1 P '

3) mooin
a) Nwp

1) The &n»92 says °x» " bases his 17 on »nnn

b) v n

i) The &n>92 means that it must be that =°x» " holds *»7 97 1°3p5 Mo PIp

because that would explain why he relies on »nrn and not on 190>

4) X"wan




a) The same reasoning proves that 7737° " holds >n7 7137 1°32 W% n17°0 PIp because
that would explain why he relies on 105 and not on *nrnn

b) xwp
i) why does the X3 assume that >0 ' is poon on whether M7 1°1p2 Mo PIp
il) say instead that o1 '3 applies both ynrin and 1903

2T

MINIX ATYIX Y A" Th

12132 17 PPRT 1D VR KON 22107 1WRY "2 AR R 7"72 [2 TRy 1 07
NI9D2 19 PR 2777 2190 MARY DR 1212 W PR TaynT ' 5oy "o a2
W'Y 71BN 'D2 NIN2%2 MIDDINA 171 IR PITY MIATR KON

N1 QT

‘D nynw "1 0"awn = 'K 70 it 1729 T Ko

N2 B'"op arh X7 RNAPEY " nyaw 7''72 2'awnna [N TRy N1 n7]
JIART 79 NONRY PAMI 2R AWDT RINT 2777 IPIDRD 10 NYRY WD
RPAYUT NAIRT PRINAR PAWAD KDY XN5R TIT W7 RUT MW AL
MDD ROINT KON 12 RO 91T DT RIUT 20 MARPT NApUn a1 NinnT
MIPRA PIDR RAT OTIT MRAD AP 90 NORT N2 PIDRD 1 nyRwT
TP 9T RABDRA KD 'anm) Py
1) X
a) 7M1
1) 7°avT RITOTT OM9A7 10K KRYY NI NWRY 7T 000
b) xnman
(1) 1xY? 11 DI HYAY TAVT KIT T 2MDAPT 101 NN TNIp KD
(2) mann nMIN2 VW2 NP RN N DT NN
i) X2
(1) Xy o1 K0 DY POV 93 NP RDY TAYT RIT O 12307 DK PN My
(2) 791 NN MY S KV ANIPY TAVT RIT ONT M2APT 11IAR KD IR0 1RY NIvna
2) mwn
a) NP INWRY AT M7
3) R
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a) xwp as explained by o"awn
i) How is it that *x7mx are P in a 197 that the mawn sets out
4) R"wan
a) 7oRw

i) Isit possible that o"aw refers to the npYoma between jnm1 27 and &1 27 and
that the mawn is a Xwp for X7 29

b) nawn
i) No - since we established that X171 27 says o*°p anpn» as a mann

il) Instead o"awn means that the mawn is a X*wp for X271 because the nawn doesn’t
say that its 17 applies only to my» that aren’t Pavaw

and an7 a"Tn - "2 P70 Tt AT Xlo

7127 2N 1IBR TARPY TN IN 770R "1 Pwha ans b 7''7a 'ona
I KD D% VW2 IRAR IRIAWT RN NORT D pIRTe v b oy minna
JIOPTIWA IIIRT DY W 11D 19 1N WA TINRAT RN 2T 0 1N TY
"2 NS WPa 7INRAT JMAKRP KDY 2977 19 29907 IUTYY RIT DR w7
2''YT 90 AON2TR MIRWPAR IR 77907 SITT INTI2 VT RDT 2anDa KON
792 MINT 90 RITT RSN 27 K17 2R IRD 1D WP 7INRAT MRPT KT
"> WP 7INRaT MWRPT KPR 2''27 X7 2wn 2 {209R} 00 nvnN
ST 23 19 ANDT 397 RMAM 2NVWIP Y2 DR 29T TR A KDY I
ANDW A0 D7 MY TR RO RDT 2T P2 KDY IR v''n am
t21Y7Y 10 VWA W2 ORART T YRR WY PR NDoINg
1) nnTpn
a) mwn
i) [PTA2Y TLW2 D32 PIPI NIINR 7 WOw 0°00]
b) X
i) X
(1) 1712 3w 7Y 71 RD 701 0w 2aR 73010 0w KO N R
2) XnM2
a) N7 57T 7701 37007 T AN 07w T2 AM0% CTw 17 2N T¥D 0wl
3) R
a) Nwp to YR
i) The &n>n2 seems to say that even a 75» qvw is 7P without my»
b) y1vnof "wx 29
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4)

5)

6)

7)

i) Inthe Xn>>72 "5 M9°% 95 NWH2 20D AnP12 manh wpa manna"

2"aw" — x02 of the y1n of >wx 29

a) the xn»92 deals with a 730 qvw where the 2m> wrote "% 71101 7w " to be 2n

mnR2 and also "% 3101 7w to avoid Rxn 127 X107

maoin

a)

Xwp to o"awn

1) X7%1 927 8107 applies to a ann that’s MnX2 so the avw of 2"aw doesn’t
explain why the am> wrote 7% ann1 1w

Twni of mvoin — xea of the yyon of *wx 29

a) the xn>n2 deals with where the an1> wrote only 7% 771191 >7w or only 7% nnn1 7w

b) and even where he wrote 1% 77107 7w we assume he meant to give it 7an»2a in the
sense that he wanted to be 7pn without money
R"wIN
a) Nwp
i) How does this y17°n answer the xwp to Hxww who says 7y mip X 191 quwa
myn nw
i) After all we just established that the am> means to give the nin»a 77w without
myn
b) v n
i) The xn>n2 applies only in a case of ano where it’s not clear that the 201>
intended a 77°on instead of a ann
i) Rmw deals with where it’s clear that the am> intended a 77°5» and not a 73nn
c) wwp
i)  When mpoin said it was a &>wp to the nv>w of o"aw- why the am> wrote 7w
72 701 in addition to 72 7o 7w since the 7ann w5 {won’t avoid} 027 K17
Rea)
i) Why didn’t maoin answer for o"awn that the am> wrote 1% a1 77w to make
clear that on7 >va X7
d) y»n

i) Toaccomplish a 1°1p without o7 a more simple 7272 would be to use a 3p
970

il) In fact maown mentions this nmp1 at the end of the m2°7 — see w"wa who
explains that ">1p°%2" means 2710 Pip
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N2 7T

17'ox T"Na1 N A" TR - A P AT Nalo

ST PART STNIP RY ANWRD 5327 97281 "D ' a'Ta [2 Ty N1 nT)

T2 RIOI KDY TIY 19937 PORBR YR 9o "D RINT 290 9201 WaT NI
RI7 9797 97959 139K RDT 99 NOKR 19K R W2 7INRaT PURET) muawsa
RN TIT RD OPAT RUT T ONDAD MR T KD ONT {mawn}{wav
Boph NIDDINT 1ANDW RITOD TAD DR WK 1M90Ra KUK "D wpa minnaT
9970 RDT7 2n02 11997 12 WP2 TINRaT AR T 7T790R answa Y9IBRT
TN TR DR NTIND PIPIT ST ION TWRD RO DAN 7TVI0R 1T ORTI2
WHDY 1A KD N 9EDY DY T DTT RIT 270 INY ON 771NN 70T KDY 207 0
T TR 7 2'RT SWPN SNORT INR TN O BTT RN 270 RO M
19'"mY NYIDT DOIN BYANT SDY RO AT RIT OIT M0AD 7''nb R Tanna

nPn R 2" D MRAR AR KDY INWKRD I2 N 7R DR 7''Na
STRNIT 3 T2AYT 3 7I9R TIND ORM I ART MIWRITY PRI 2o 10 IN mann
M1 MMRIMAY IR NINT T WOT VIR 2T TATY TIT 7R NIRITT 100 N7 N0
STINM FTITT 212 RO 9D 7INR MY T9 9T IRIDT DY 0w 9 In1T %0 ann
2Ty R
1) First an7pn — Xma
a) 7am 2
1) V27 RYT T M9AD MR RDY NP INWKR? T 1M
b) xnman
(1) MxYH o1 KNI DY TAVT RIT ONT HAPT 79 NN ANIP K7
(2) mann NN VWA ANIP RITD NPT NAon
2) Second mnTpi
a) We established for > in the prior 112°7 that
1) Unless it’s clear that a 77701 for my»n was intended

i) even where a person writes 77 77101 *7w the 2am2 intends a mann without o7
and uses a 7°on 1w only to be nnka 20

3) Third fn7pi

a) MDY INWRY 77w 0w Hva

b) M7 90K R INWRD 7NN 77w NI DY
4) & nx according to the xonx of »"
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5)

6)

7)

8)

a) AR D2 RNT 27— MO KN DY ANIP AWRD TTW 1m0

b) X M9 "on PWH 77 2031 777 10D WA 7I01R2 10K NTI 0917 91 172K M RAX ' 002
ige)

mooin — mvw of >
a) Nax " disagrees with ak 92 X117 20
b) Because Xax " agrees with X171 217 who says that

i) 7av7 R onr 123 and as a result the awR isn’t 7np by 77701 and is instead anp
by mann and it follows that %va isn’t n11°9 20K

ii) and %va used a > of 7721 to be 1> Mo n by giving her the benefit of N1 nx
X"wmn at an a1 7"y
a) noRw

i)  Why does >"1 need to explain that Xax ' agrees with 81177 21 that X177 o171 7937
7av7 but that he anyway intends to give a mann

i) When
(1) Since *"1 in the prior m2°7 said that even where no fwx is involved and

there is no issue of >11r ™94 still in a ano case a person who writes a ww
7701 intends only a 7ann

(2) »"1 could have explained more simply that xax "3 says that the 2m> had in
mind a man» — the same as for any 9apn — even if the 127 for qwx is that X7
SWAT RITOTIT OM2A0T 1R

b) nawn

i) We established in the prior 1>7 that the rule that a mann is meant applies only
where it’s not X7 that the 2m> intended a 7725 with o7

ii) Contrast the case here where there the 7wk gave o°n7 — and that’s why for "
X2X to say that Sv2 meant to give the 7wk a nann proves that xax " agrees with
X117 21 in the second 7P

X3 according to the X073 of an 11029
@) 72N 72 RN 27— M DA YT NI NWRY 7T 000

b) nX M9 T5n PWH 77 201 177 10D WA 7aNR2 10K MNTI 0TI 91 172K MY RAR 1 252
D AR

Twni of naon — vew of an a1 and a &wp by °" to an 12

i) We’re not "012" o3 and Xax " agrees with 1ax 92 k17 21 that Sy is o
ma

ii) because although 1% 11n°% wp>a nanna still he used a 7on WS to be S¥a7 5 791
to give him the right to m s n9ox

b) xwp of >"1 to an w20
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i) What does x2ax " gain by saying that 7% 1n°% wpa 73nn2 and although he gave
her a 110 he used a 751 W to be 112 79°7 to be N7 YR

i) When xax " could have said more simply that 25 n71n2 7% 7an1 and we don’t
say that 727 X177 °17 173 so there is a valid 7on and it follows that 551% %ya
m°s without having to rely on 3 "9

9) Twni of X"wmn at oan a1 "7
a) Xwp on the xwp of *"3 to an wan

i) Maybe xax "1 agrees with k117 21 that because of 7°2v7 X177 °111 1935 she
doesn’t take 79 nn2 and instead takes 73nn NN and that’s why %va needs
to rely on > »19° to be m7d HoR

b) v

i) If pax 72 837 21 and Rax "1 held that 727 X177 °17 1735 there’d no further need
to say that &ax ' agrees with ¥1177 21 that there is at least a 730 and then to
have to rely on n> 19

ii) It would be more simple to say that he disagrees with &1177 27 who says there is
a mnn and instead to hold that there is no 25 and no mann» so that the 77w is
still his and that’s why %2 is M7 7918

10) qwnn of mooin
a) Refer back to the main point of the x*wp of *"3 to an 127

i) xax " could have said more simply that 25 n7n2 7% man1and >"193%7 3398 R
7av7 X7 017 so there is a valid 7on and it follows that n17°s 553x Hva without
having to rely on > "o

b) yyon by »"1 for on v — 2w v

i) Xax "1 holds that even if *y27 X177 °17 1935 110K KD an qwK can’t be nnp by "on
from n%va and is nnp only because 7% wpa minna by way of the ow

ii) because
(1) all myn that an 7wy holds belongs to %va so no 751 for myn is possible

(2) and although %va can’t 172 be ®>¥ 1 the myn still if he’s apIn the myn or
7nava has her pay the myn to him the mwn are his

11) X"wann at 12°oK7 7"R2
a) anpnto axowp by X"wamn
i) Xp»™a2
(1) @175 1Y 732 PR W WK 7 M2
i) R
(1) xwp to m1 21
(@) n7xdY the reason is that *ya7 X7 11 1937
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b) xwp

i) For on 121 why doesn’t the X3 answer that the myn that Hva is 771 X°xmn as
a m> counts as it was always his and that’s why the 1°7 is that 0175 15y 7% PR
even for 121 217 who holds 72237 37 137 19357 11K X

c) N

i) The same as we said for an 11°2 that although for jam1 27 there is no =on
because the myn belong to %va still there is a mann by way of the uw because
72 7I0°% W2 manna

ii) In the same way once va gives 1nwx a o for the X% he is 2»nnn himself
to return °nr as a ninn

21 T

[z In 7ap A TN

%' HaR "D ISWR INONM A 1D R 12 Bap T2 [R Ty 21 nT)
77°aR 97 MR W N7 MaR Y0 PR TR RawnT 9oy "o avnnsd
T 12 299Pa7 1IN NYTR RAWT 179 19V 2977 1IN T9NOR DaR Ny

"R 7'

DTV "X a"T 0"awa xax "7 nTmi na"1n

"2 ©YIR 2% AP WS 20 K7 2D W% WD PIRMY 12 RaR W 77 ''Ta
T PRITD ATINYTR IPOR KDY DN 120 PMINT 7 ROWT ATAT ORRY Doy
bY ART IRIAWD MWD 170 MWPN DUT WP 17 19T RNDR 10 ROT
MRTIT D WENRY PRI 0 PRT DIIN2 ANT IR N RIS PINT
"D RNDR RADIA AW DY PRIIIT J190 ROTT 9% SIPNYTIN IPOR PRI
N2 2"'R7 777 2PVR 29 RN PR ORT R0ATD PANT YT nRwa anb ban

19PN ITIRT RI2TD DY ARD INAR A1 nB

T pP'e 5oy "o YRR WNWRAT ORT "D 297va 9NN 772 2''awnel

YRR IN0WR NN RRPT2 IN0%Y2 1’,71’771 Q7 AR YRR IN0WRT IR TR

YRPT 7989 99X INTIT 2D 2RH 9 IORT SNRIM DIMNR QWD

MNP NOIRY TR IN TIPW PP 'S PRpT ORT XN baR NN

N7 IR N TIPW T UPAPT ORT X'NRT VR 21D PR WN0WRT MK
:’7"?1 1D ANDOUM IR VARP RIRY PRAPR INDOYR

1) First nnpn

a) 17 nmais i for pmne all successful nivv their wa could have made
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2) Second anTpn

3)

4)

a)

mwn at .an a7
i) 7P PR DMK

b) X at.m A7

i) Apmo W oMK A
i) xwp
(1) 7pTm % W SRPR DMIX 12 MART KRNIV RNXT R

X373 here

a)

The case
i) 72387 has mvw he used to buy m7w or to make nX1>;3

i) 72187 claims against 1287 12187 *nx that the money he used to buy the m7w and
to make the mx1%;7 were his own that he was w2 from his mother and in
which yarn» 32387 °nx had no share

iii) 123%7 °nx say that 72187 used money that they and 321% were w2y from their
father

b) an
1) while 123x%0 is alive
(1) 32387 °nx are 7217 unless 12181 proves that he was w21 the money from his
mother
ii) after 12 dies
(1) 323%7 °nn> are 7917 unless 12187 *nx prove that 12187 used money that 7218
and j21x7 °nx were w1y from their father
C) Xmw
i) 3237 and his o'mne are 7o in all cases
moaoin
a) Nwp
i) 27 who said 1287 >0 are 1o apparently says 12187 0% 1w that 12187 was
v from his mother even though 32187 when he was alive wouldn’t have been
1x1 for this mavw without a &9
ii) Yetat .1 7 the X3 assumes that because np11 17 PR 0% without a "R it
follows that ©>9x 12 also has no P11 and we don’t mavv for him that if the oox
were alive he’d have brought a "&"
b) v n
i) 27 says 12381 "m0 are 7917 not because of 1% j1°1vv but because the mvw that
name 1218 support the 7x that 12187 used money he was w1 from his mother
C) Xwp
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5)

6)

7)

8)

1)  Why then is it that 12187 himself isn’t 181 while he’s alive
d) yrn

1) Because while 12381 is alive we assume that if he’s telling the truth he should
easily be able to prove his v with o7y

il) 7237 °nn° can’t as easily find o7y
R"wAn
a) Nwp

i) Inthe x1nx mn of mooin before mooin realized that the mavw that name 1218
support the 7x that 12187 used money he was w21 from his mother

i) Since moown compares the 1°7 of P for an ©*x to the 17 for 12387 in the X210
here

iii) Why didn’t m»oin ask more directly why Sxyw says that 121 is believed
even ma even though we know from the mawn at .an 77 that [P 1% PR 01X

b) y1n

i) mooin realized even in its Xy M that Sxnw says that j21x7 is believed
because the 7x that 72187 used money he was w11 from his mother is supported
by the mnvw that name him

i) But m»oin assumed that

(1) this couldn’t be true for 27 as to 1217 *»n° because otherwise why is j218
himself not believed

(2) and mooIn hadn’t yet realized that 123%7 himself isn’t believed despite the
nmvw in his name because we expect him but not his o»n° to easily find
0°7¥ to support his case

Twnn of the Xna
a) X701 2"

1) N0 PRIPA PRT ROR PRI K272 1218 57 (277 R2OKR) 1w RO
i) Y7o DR MK N0 PRI 2aR

n"awn

a) The “xn that 123%7 needs to bring is o°7y either that y»°p \no*yn or that 123%7 was

w1 the money from his mother

R"wAn
a) Xwp

i) If he brings a &1 that y»°p \noown it must that the 1R were 1nooya 170

i) and once they were jno°va 12121 why does 32187 need o7 that y»op 1noovn —
after all X701 27 said that y7»°p 1noown 29K

b) y»n
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1) X70m 27 by "mm°R" means

(1) 323%7 need only prove that he was 1no°wn ynp and saved some money from
his share

(2) He does not need
(a) to prove that he saved enough money for the nvw
(b) or to trace his purchases to the actual money that he saved

21 7T

1WA 'Rwa? lwyn DMaT AN

1D RNT AR INDT A1 MY PRI "D MYt 2927 7''72 [2 Ty 21 07

TTI RDRIT MWD PRT 77 5oy "o pwn RITR 12 YT IMINY 9pb

DT T2 1 NARRWST 2RISR NIPN 2R RIRITR MY 1R 3R avnw

TSR W'Y R A2 W'D 1D TIY RDIRT 957 92190 7T 212 Yo

B2 ROZIAW 192 777D T PR QAT NI 292 IR TAT RAYY NPT
2P''NTY 20T YR

1) xwxin:Tp a7 P

a) The case

i) 328" recognizes his o°%5 and 0>790 in the hands of 1w and there isa ow
7°y2 112013 that supports a mavw that the o°5 and o>90 were 2131 from 32189

ii) nwynw claims he bought the o°%5 and o*790 from "7
b) The 7
i) 7wnw must return the 090 and 0°%3 to 1280

i) But— pwn nipn nnma — 12181 must pay nynw for what nwnw is yaws that he
paid "> for them

2) X here
a) The case
i) 728" claims that he owns o°9> that nwnw holds
ii) nwvnw claims that he bought the o°%3 from 7218
iii) The 0°%5 are 27w Rwa2 Wy
b) The 7
1) 727 IS 7O
3) mooin
a) Xwp
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i) ©°9D are awn PRYL WY
ii) It follows that

(1) in xmp ®22 we ought to believe 32181 that the o°750 were 2131 — even if there
IS N0 7°ya 721 oW

(2) 1o if 321%7 were lying he could have been 1217 with a 7vv that he had
loaned the o190 to Nvnw

b) Possible y1°n
i) Thisisn’t a valid wn

(1) Because 12181 is more comfortable to lie and say the o190 and o°%> were
2131 since 1wnw doesn’t know whether this is a lie

(2) Than he is to lie and say that he had loaned them to nw»w since Ny
knows this is a lie

4) X"wnnn (see "wR 1)
a) Nwp
i)  Why didn’t mooIn consider that the 1 might be invalid as a irvnT won

(1) Because it’s possible that j21%7 is more comfortable to lie and say 12131
where he is 771 that he at least needs to repay nynw for what 1ynw paid 1%
for them

(2) Than to say | loaned them to nwaw where he is 5377 7915 and takes them
back without paying anything

b) v

i) the fact that 121%1 by a 7ayv of 12131 regains possession of the o»9o and o°%5
isn’t made less of a 711v77 by his obligation to pay pv»w for them

21 7T 222 972 2TAL 701 2T

50w "D 7% 0RT ROWT 1D INSMA2 DY DT A0 PaR "1 TA bya ''Ta
21799 RDT DaR A2 90 T01RT K27 KRR TNDR NTI0NRA IPYD K97 21N
19 ''mY SR F79M2RD TITT VIR KD O9 0RT R2IRT 1512 Y9DR 9

MR 90212 A1 7IPY 1D PRI DI RDID INPY 12 7MY Bya 772 'on
D572 NPT RIMR PIP WMDY RN A2 IR KD R AR ¢'ay "o
2T PRYRRA WD 1YY 2R 2" awnns NPT NI arun KDY PN

TORDTRY RPIT YRRRY MR DPI2 ORTY KPR "D R'"awab awp bax 7''N2
N972 DI YaRT WK PRRaT 2" awanh aa RwpT v R oy "o mnbT
77 DAN 772 WIRD2 PP RRDYR 21239 TIBRT M T KDY P T TN
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T PR B0 TR NINDT TORYIAT TINDAT NIDOINT 2w DR anow

1)

2)

3)

4)

5)

6)

7)

2''NTY AR 2TINaTR oM
First 7a7pn
a) The x°x10 here deals separately with
i) A 1p of vpap for 1ommy npn that’s based on an indication of m?y2

i) and o°1w 'x nprn that’s based on the kind of actions by a > mnn that would cause
a wwn to be nmn if the 77w belonged to him

Second 7P
a) Xn»2

i) Hvicounts as a aprn for 7onm npn
Third 7P
a) o"awn as explained by msoin and by X"wain at 97 Hva "y

i) "ow1" means 2w vap that counts as a 1ia that o°%va make

ii) Now

(1) It’s a muw» that Hv1 doesn’t mean rnon n°on for a nkpw 27 °0512 7P
because there is no 121 who is rinan "0

(2) 9v1 also doesn’t mean nnon n°on even for a 1on where there is a 715m
who’s 701 the nnon and even if the n1% follows up by n%7 n%°w1 because
n%7 n%wiisn’t a 112 and counts only as 17°an *0311 *X 17121 that we expect
even of a person who has no m7ya

Fourth a7pn — mwn at .11 97
a) The xw» of the mwn deals with o°3»1p for 277 °051 and qonm npn

b) The xo°0 of the mawn deals with owyn similar to m°s n%°5x that count towards 1w
710 and teaches that n°277 7102 29913170 ©°1077 counts as one of these owyn

Fifth mn7pn — X at 1197

a) X9w says that the kinds of o'wyn that are listed in the &0 for P 1w also count
as o°13p for 27 021 and "5mm npn

mooIn at Hv1 "
a) Xwp by " toa"awn

i) it’s 7anon that the awyn that’s anp for apm »aw in the xo°0 for o910 021077 IS
nY7 Nyl

ii) It follows from 2w that n°a77 7302 P2137n 02197 counts by way of n%7 n>°v1 as
a npin also in the xw»n for being 27 °0212 N and 25nm npn

X"wamn at ((awn) 7 Yy T
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a) Mmooin needs to stress that — based on X9 1713370 0°35:7 works as a 1°1p for *0a1
9377 and "onm npn

b) because otherwise it would be possible that n°a:7 7302 121370 02107 works for npin
1w "3 based on some factor that counts for o°aw 'x np1 and not for q2mm npn —
w"R1 suggests because it counts as 110 n°oxk — and not because of N7 nw1

8) Twni of mooin
a) anpnto axwp by R"awnto "™
i) X mxat'any

(1) If 32387 is 7377 °0212 PAvYD N2 and PYRY is NIN9T oY it’s NYRw who’s anp
— not 121X

(2) Because although 3211 added value — it’s only w»w who by nmn%7 n7avi
completed an improvement that right away benefits an owner — while what
12187 did counts as 7aRT X177 X7y 21200

b) xwp by x"awnto "

i) Presumably nwnaw was also n%7 %11 because if not he didn’t right away take an
action that benefits the owner and his mn>7 n7yn ought also to count as °12°%
TORT KT ROV

i) So obviously it’s only the combination of mn%7 n7ayn — with its element of
112 — and n%7 n%>v1 that brings about a ip

9) X"wonn at nwp Har 7"K2
a) Nwp to R"awn

i) X"awn could have asked a similar x°wp to o"awn who says that ,wan nyap is a
717 and NP7 n>°viisn’t a PIp

i) Namely why is it that mn%7 n7avn counts as oR7 X7 ®nHYa 212 and isn’t a
117 while 9win nyap counts as a 112 and is a 1ip

D'TYa "1 n"TNn"awvwn

AT PR DO N9 PR INDWRT ORT 1D 25TYa ORD 1''72 2''awena
PAP IOV MR MRPTS TNV PPN 2T AR PRP INOIWAT R TR
PRAPT FORT TOIZ ORTIT IWITED 2D W IORT SAREHR 2R 2D
MARP RN IRV IR IPW YPOPS 0" PRPT SORY XN YAR MNOYR
RIT IRV IR STIPW T PPOPT ONT XRT 3R 0" PP INDOWAT MK

TB''=Y 190 ANDIP MAOR MRP RINY PRAPR INOYH

See XaR "7 o7m "7 at 2197
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A1 7

nwi 72N T'N2 nIDoIn

TORYTR RPIT YRR MR DY ONRTI KPR 10 R'"'awah wp ban 7''Na
N972 DI YaRT WINIER PRt 2" awnnh aa RwpT v ' oy "o mnby
77 AR 7772 @'RT2 IO RADY2 91299 TPORT 10 T KDY P12 T TN
T PR B0 TR NINDT TORYIAT TINDAT NIDOINT 2w DR anow

TP'NTY AW 2ONaTR Ao

See Hv17"7 MmooN at 121 A7

T2 752 2T

TR TANMR 27 P27 T "D MMAD RDIRT ROWP TR 10 78 by 2
V9I1D2 NINR TIAD WPERR AR 2IWNRT RN RAWT MY RO XD 5oy 1o
2P RN 7TINR2Y TA2T 100

DN NN A"T 0" awvwn

'S W% DR PRATIPA RAANTD "D 79 2970 1R "D 0% Y 7''a a'awnea
57''72 BO0% 23 MINRY 357 "D MITR 0 W% 0RT ORY T7 B''ay o mTw
99 2AR W2 17'0Y "D D2 ROV

2uyp XnwnI AT 0"awn

B0y 12 B9 Y9MY RY RAPOPRT XN w2 KDY "D YR XN a''Ta
R ROPOPRAT JI0NAT 'OINT 772 AV WHR DD NV T 90D 11N
bbD 9MY KD RIPIPAT T2 WD 2 TaY K21 772 9MY RN 772 Y0y
97 RPIYRT 923 DOpD 2'awnp 'Y TaY R2WT PrITa 0 9MY XN
NOR 779 77977 XD X257 2''2w™ NOAT ORI 12 779 OPh0 KD RNWT 19 PR
19''mY 'DINT 12N TIWRT RO

1) mwn

a) TP O RIIW 2O YD T L
2) X

a) XIHR M7 0n what counts as Ryw 92 773 — 12 9P20 R? RNWM 72 °P20 RIp°Yn

b) xwp — 72y X2 and this is more than a xiw %

C) RIPOM — RPMTA 1772 P20 RNOWM RANI2 177 P20 XIPoIn

| | Xnwi | XpPYn X 92 773 |
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702V R2W NXOWP 77 °pH0 R irdirirle) RPN 710
R1IW 93 7°2v7 RN Xpm17a 177 °p20 XNM12 72 °pho Npon

3) o"awn

a) Add the word "xpmT7a" — as in the next table — to "x p>yn" in the X°nx M7 on what
counts as X17w 92 773

b) because if 7% °pH0 R? Xnwn RAN02 72 °PY0 XIP°yn there wouldn’t even be a M
XX that this counts as Xiw 92

Xnwn XV RITW 93 77a
T2V R XOWP 17 °P90 R? RpmiTa 77 po0 RIAR M
RIW 93 7avT XN XpmTa 177 o0 X112 72 °ph0 RIPON

4) Tqwnn of the X as explained by msoin
i)  Two mxo of the X1k 777 on what counts as Ry %5 v

i) Note that for the first 073 the x7n3x asks 72y *&» and for the second xo"a the
X713 asks 72y xaw

Xnwn XIP°Yn RI17W 92 17%7D
792V RN 72997V XD 72997V XD ND? RIAR M7
msoINA INWRA

15w 0°15021

T2V X2 72 09y 72997y XD RONY XIPNAR 77
115w 0°501 MdOINT
RITW 92 TavT XN RpPmMTa 7209y RM1172 172 997y X237 XIp0N

5) o"awn

a) The & prefers not to answer that P72 °%»y Xnwm 522 9y &9 Xp°yn because
also for this xnn px there is the x°wp that 72y 8210

RPN RITW 93 71%7D
792V X1 72997V XY XNwi 72997V XD 'R RDIA? RIAR 77
7°2Y X2W 72997 XN 72997V XD RD? RIAR M7
119w 0°7901 NDOINT
RITW 90 7avT X7 72797y RNwn XANN2 7207y RI7M3T RIPOA
Xpm72a
793P R2WT WPINT RpmTa i vy 72 XYM R *ya XY 2''awm
Xn®
6) X"wann
a) Nwp
i) If o"awn follows the second xoma that "72 *»y xnwi" then in fact the xan3 asks
T2V R
b) v n

i) 2"aw" here follows the first X073 where the X3 asks 722y *kn
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21 T

Inn "1 n"avwn

m9%2 YOR ¥TN PRATRR R "D [17a] (OMIRT ORT) 772 [2 7w a1 nT)
B''op 12 1TAR QN7 OAT M PRATP 1 JRRTS 10 TTIND ORI TR "0 W
T2 9557 MRP MITA 92 MTRY R ANTT aNTTY WA M7 RYT7 'Y wn
RI7D 77 IIRIDT NITR 927 19T IPIN2 RPUD X2 PO RO DaN N7
KDY 777 D922 (XA PPRT) X2 N7 2'IRRR 1792 1TAR 5w BT RIT

5P 1792 17AR 20 I

1) X in PR noon

2)

3)

4)

a) Rmw
1) 1210 7P 1 DR PO M WYa MY D o0
b) Xp°X 277 M2 RAK 20
1) °1p XD o1 019 % R TAR T0OK2 NN WY 17 1071 19KY YN
C) Xo7®
(1) 172 37K PR RO IT2ITNR 2N N7 N
d) Note that
i) the x>7°ois only a »11°7 to the "vn" and says that there’s no "X to Pxmw from
nnna Wy
ii) the x>7°0 isn’t >0 the 17 of HRvaw that "1215 map mTw: 1 nnxa poma”
X713 here
a) 712 IR XM MW Nw
b) I °I1P1 RI7 RYIRT RI0OR ¥ ORIT IR O XD JNW NIPD I8N POIAT MYOR M 0va
WRP PTINT ORT RP9T
c) N
n"awA
a) The x°v2°X is whether for 1% we consider that *&p 7172 "X *Xp 72 °X7 S0 the
case is different from nmnia “wy where 17°2 171K
b) note that in 7R the X1 also asks whether my7w awy is different from “wy
nna because Mnma WY IS 172 1R
R"wn
a) The cases aren’t exactly similar because for m7w " the X1pon in PwY7°p noon is that

1210 3P while for 2xna porm our X030 is "pona Xpho"
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b) And the reason is that based on xy7 717 XyIRT 8170 the case of m7w " counts as
n¥p 17°2 173K while it’s possible that 7¥7 isn’t 77w 9252 and there is even less 171K

17°2
1277 227 1772 171K Mnaa Wy
NYP 172 ITIAR XYIRT X170
NS 227 1772 171 XN

y'¥xna "1

MW7 WORRAT V'R B oy 11002 7AW ANt o »oxnan ''Ta 'on
79237 77772 2'Mawn WD YaR TANT 23R RTT TAM NRIMY YR
Y RYT ITIANT QWA N0 YORMATT DR NN "D TauT
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T 7

NNYTIN 2" Th

YR 5199 RO KD ORMR "D Da2 K22 NRY D RADTR 7172 [R TR TanT]
DRl oW RIT RIRW MR WONR Y90} NN ON 10 a2 RxnT "5 Doy "
1P NPT ROW 1937 apun DAT Drah 790 RO K ORBRY {IN WINR 1NN

"?y aw 'ona

N7 a"T1nh

9 oY JaRR Doy N0 N1 KD TAN2 NTRAYTAT AN 1ApRT "D X9 e
PIYD BaR 29w '3 NPT PIVD RPIT 99T TR OTDR RDT RPIT 29DnIRa
19''™Y 1P KD AR NTRYITAT RAYYT RO20 RAP 93 90212 K27 0D 7P

-1 7T

N "N 7T n"T Nn"avwn

"2 NI "2 939977 N9 RN BURTD 17''72 2'awn 2 [2 Ty 71 7]

NS IR STOD NANDMR RYT PRAWAT IR 2R R0y 10 20w naten

A1 TN NN 22 W5 2''RY 'R R10R2 NEPD aRITA Ypan onRna

Q7PN ATINRT DITPI AR STNITAT YPAT DR amnh WY R TIIN2

TR P2 12 72 TINR 219TR ORI "0 2pnD aatan B 'R w2
:2''Y7Y "D Yanm o By T

1) xm

a) 27 MK 81720

1) Ina"a7°001 77w that’s »%n2 n»nmon a person is anp the whole 57w by the Pip
of Xxn1 172 oo if he digs 7nx won anywhere in the n7w

ii) Inan7w that isn’t »xn2 nnvon the person needs to dig X7 X710 rR7o"
"377 in order to be 11 the whole 77w

2) o"awn
a) 0"awn — 72 of "7 X7 XN PIRTO"

i) 3 T AWy NN TN NP TV 37w 123 AXpR DAR 5 P2 TN wnwd”
7P 72 IR 2991 0NN INOW IR WNOWA 7TWA 93 219 HY MW nw 13707 NOnR
"912 WA 12K 1277 92 DY IR TTWE TR 92 WANT 10T 2170 DR I 2 77wh 9

i) In other words the person needs to dig two adjoining parallel strips along the
length or width of the 77w
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3) R"wann
a) Nwp

1) If ina "™ xna nnon ARY 77w 27 to be nnp the whole 77w it’s not enough to
dig R won

i) What effect do two strips along the length have on the width
b) v n
i) Correct 0"awn to read this way

(1) 7w Awy> Nn2Y" TN NP TV 3T 123 A¥pR DR 7Y P2 Tex winwd"
TIDXMY 27YN7 NI WNOW PR INDWH 77w 93 210 HY MW nw 107" NINKR 7w
™10 WA 129K 1207 921 77w TR 9 WA a7 AW 9o 73 70 na" ot

(2) In other words he makes one strip along the length and a second strip
along the width

N TN

121372 122 5P 12 PPanIDR 21PN PTAW TR "D DR 1772 'oIn
By w''AD FIIRNIT TIPAT T50R 215V VR LIYAIR RDPT 2wn Doy "1
1'"25 1DTRIT TR AN WIPKRR KD 0D 2 W AT PaR TP W KON
N1977 2''RY PPANDY 23R PPTAW MW 120D N25w 1190 'R N "2 1D
P9N0R 2"MISYIY IMRAT T B MR R'Mawnb ' mwowsa nooa R
ND22 TIIPT 2NDW 7IAD ANPWIPY 1DRIT 972Y 110 NIPY NPT R0 KD b
TP'NTY 2R WY YA 1Y RTIMA
1) mnpn
a) >0 of a1om in mMypap non

PR

UPWN IPR] | R [002 PRnon 17 YR 'R P91 ORI 01N

NYTA WM PR IR X120 11°V2 0w AN Dpna '2 PO1 ORI oM
oY °72 0w

M TIVRORY BT I TR | oA RDY TR w2 phnon X? 'R P71 0°2010 72w oM
IM 9P 1Y 1 RMDY 1777170 VY 703

VIR KD N7 7707 1970
7175Y7 XY ORI TIN? 0V XX
nD SYAT RIAR M7 1M 9

177°°170

17X 1°17 Mo 2"awn '2 P11 0’2010 72w oM
172 T0W VA1 0¥ N20R
DR 0

2) XM

a)  DRIW° 72 PO RD POTVY 3R1 00T 0°2010 T2 20w PRIWSD 1101w 0°2010 723 03]
T3P 72 PO MR DR 2TR ORY 17 0

b) 21 TR RAOW SuNRT TV IR R? ORI ... RAVY XD
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3) o"awn as explained by xX"wAnn

a) The xaa deals with quw Pamow opna where a 58w isn’t 1P with qo alone
because there needs to be a quw as well for the Pxw> to be “ny7 i

b) The same X120 applies also to a 0°2215 72w "0
4) mooin
a) xwp of X"awn
1) In fact the & nx deals with auw o°andw opn2
ii) But
(1) based on 1oy and the wwn mm 9p the Sxw> ought to be 7217 from the
0°2512 721w once the 0°221> 72w was 703 Hapn

(2) and it’s not 7anon that the >Xw» isn’t 1ny72 1 to be np from the 721w
2°2212 until there is a 7vw because the x> is wwin that this 7% would
allow anyone else to be 1y before the ~vw is given

5) X"wann

a) In his xwp to o"aw why does &"2w" need first to derive the 17 7>y that 2"oy is
P2non with qo>

b) since
i) once X"aw" has said that the X3 deals with qvw amow o1pna

il) it’s already obvious that X"2awn recognizes that qvw 1am> PR 21pn1a the Py
177 applies — as set out in the prior moon at 22210 72w 7"7 —that an 72w
0°2517 is 732 Pnon and there isn’t even a XX M to require Tvw in addition

.M Q7T

NN X7 "N TN YT AT TN

TOMT TNT TIWRT 702 RV 32 "D AT T 77 "2 [2 Ty 1 nT]
T BOAR M IDAAT NI 011977 152 RO 25IMaTAY 23297 7T 'Y
9=y 2 awaps KDY 2%a07 Dhaw 'R

RY 292977 9922 3N "D RoDOR IN 12 RINY 292777 92w unv® XY 7''Na
POAPT 29207 awT R''7 INDT 252 w7 anow 7 90 B''oy "o Rin
T TR RY W'Y Doy "D phap KRBT 29207 TR 1R pUoah naTy
POaPT 23 Y AR 292777 9aw 2''Y7 907 90mb 1T0 X1 XD RO N1soInm
Y2 292757 BU2R RIN ORAR SRPWITNIR DTS 2''RT 23297 TITR N7V KD
2277 77 923 DO SIRATD INMAY TIUIONR 9N 2IWAT RO MRS B''e

2T
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1) mwn

a) The table lists the 0°577 and o°%°aw that are p>0on a o°vr 77w for 8o in the 170 of
mooin as explained by X"wann at i 707 A"

R 1T
277 717
N 9w

2771 v

b) None of these 0277 and o%°2w are p>0on a 1R 77w
2) mowr
i) 12°R 77W32 22097 K27 IPYIMWRY 02277 77 2I0nY TILXOR
il)  ¥12p72 P20 1707 YIAT DATT A7 TP 7AW Can Tk TI0RR
i) ¥12p 1RWD 17908 270917 77717 T 717 PaNn? TIVYR
IV) ¥12pwa RP°T 220017 2917 02277 2°2W 2IN°H? TI0NOR
3) mooin
a) Nwp
i) If o277 22w is wobp relative to non 17

(1) Even if the mawn didn’t list o°297 22w and listed 7°r°7 717 I’d have known
that 0°2177 9°2w is p°0on only if it’s ¥12p

(2) Because if 022177 22w is P01 also for non-»ap

(a) I"d have said that the mwn ought better to have listed 0°2977 92w that’s
097 also for non- ¥1ap even though it’s w°op than to list 77 777
which is °7X and it’s not a Xm2- that it’s P09 also for non-yap

ii) If o297 92w is oox to o 0T

(1) Even if the mwn listed 22277 92w and didn’t list 777 777 I°d also have
known that o°a27771 922w is 2097 only if it’s y13p

(2) Because if 0°2777 22w is pooon also for non-y1ap

(a) The nmawn ought better to have listed 7r°n 777 that’s p>oon also for non-
¥12p even though it’s w°%p than to list 02777 2w that’s 0°%% and it’s not
a Xm2aA that it’s 097 also for non-yap

4) nxo noona w"
a) y™n

i) n1°37 PK that even if 02297 22w weren’t listed I’d realize that it’s 0571 only
if it’s y12p

ii) But if 02217 2w weren’t listed | might have thought that
(1) Although o°277 922w isn’t p°oon if it’s not ¥12p

(2) Still a 02777 92w that’s ¥12p is p>0on even in a 12>k 77w and is 07X relative
to a 02777 717 that’s not ¥12p and isn’t P°05n a 12°K 77w
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5) R"wann
a) Nwp
1) Why doesn’t maoin accept the y1°n of w'"
b) v n

i) it can’t be that there’s even a X1nx M7 that a 2°277 22w — even if it’s y12p — is
2°ox relative to 2277 717 that’s not ¥°2p and is p>097 also a 19X 77w

i) because

(1) »nwr is aware of the concept of 19°k 77w and uses the concept to explain
that the mawn needs to mention 0°2777 717 to teach that 2°297 777 isn’t P> 057
ina R o

(2) So if there were a Xn& M1 that 002777 92w that’s 312p IS p°0on @ 12K 77w
mow would itself have explained that the mawn needs to teach o°ann »aw
to be 791 this xR M0

0N ITYVIR Y AT TN

12 ©''D M NRP RIART RNYIN 31990 23 Y ORI "D Tun K'Y 72
2'"5Y 213 2197 2N Y''WNDD YIVNYTR RN PON K97 110 p'N By
179 PN KD RN 'R WTITIT 9213 170 010 DWW 70T 790 NonRID2 1
2" PDY 1INY2 POT N7 DWW N7 RIT VAR OO FIN2 POO NIPIWR TOD INR
157 2"15Y 297 ROARIDAT ANT DY 3w 707 v R DY DR PR By

tP'YTY PIIT 2w WY MB0INT o W' s

7T 9o "2 KT INY2 PEO 7ANTNT N0 SN2 PEO NI 0 T 7''N2
2R RDADID Y23 RIS PED Y213 2T AR Y'RDTS 0 NI RDT MY
AN 2"YY 'OINT AW WP M0 WNDR Tabnb B''7 D'KRT 2'MY ORT
TOMDT N7 O'RWNDD YRR ORI DDA IRD2T R NP2 N'' DT RN
9073 OR DaR 17101 2'"15Y INTIT RAT 7IN02 POO IRY N7 NAKP 7IN2 POY
2"15¥ IN2 2R RI7 7IN2 PO0 IRTIT 1" DD whs® w15 7IN2 PDD N7
MW KDY RNT D3R PO 010 M7 RDT 190 1IN2 POY N7 DT KUK INY AN
271 'R RpPoDDa K'Y

1) mnpn

a) T MwN2 aRAIY Poo IS Xhv based on a 7 from o
2) mwn

a) The case

i) A person goes into a 7ivpa that’s a 71 MW"
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i) There is 7xmw in one of the m7w in the 7vpa but the person doesn’t know if he
walked into that 77w

b) The p1
i) 21X " says the person is 17w because the oo is a "x2 poo"
i) o°mdn say the person is xnv
3) "wa— R
a) Partl

i) The mwn deals with where a 77w in the 7vpa was entirely full of nxmw and
was &nun X7 a person who came into that 77w — so the only relevant poo is
the "nx>2 poo" of whether the person came into that 77w

b) Part?2

i) 1R " says the person is 1w — the o7 Mwn2 R Poo that’s v for a
700 doesn’t involve 182 pPoo because the WX was 77001 RN

il) o°non say

(1) The person is &nv because %2 P90 is Xnv the same as any other 790 in
T MW

(2) But
(@) a person is v where there is only a X0 oo of R

(b) namely where the ;17w that contained nxmw wasn’t full of xmv so that
besides the nx°a poo there is also a "van poo" on whether he was v the

ARNIY
TR0 IR77 XD — RpP7OD POO IR0 RO 7T — 7R°2 OO0 "W now
pihia ATYHR
mhhiel hYal¢) 0°non

4) part 1 of a X210 0n ¥ 77 in 797 7712y NdoR —"Y7InT 2213 03"
a) 1w> of the xmx according to the xo7x of "wn
1) oW RWANT ORMAW AR YT RTAW I
i) {oxw}
(1) 1wpaT X202 Y AR POD WART YOO 12 IRN1I
i) {mwn}
(1) P50 P20 % M RN DWT INDT RIPRT 13 AN IRW {7 13275 125X R°NK}
5) *"wa— 01 of "am o1
a) 21317 were 0™oY Pod PRI PO
b) The poo on whether 2™y came is a x°2 poo
c) The xnx asked whether xmw was 2won based on 182 poo and o8 "
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d) The x73 answered that "x11mm ow? *nno7 112" there is also a ¥ poo and XY

followed o 1o to be 7°won based on X o0 P50

6) part 2 of the X>10 on ¥ 77 i 77T 7712V DO — Y777 ROIMPD K177

7)

8)

9)

a)

b)

o of the X
i) X2 RN MDD RYTINIL PP20T RO KN

i) "5 7% 9207 DWwn R RIVT K WY MVIR T R 0T RTW DR N7 27 ROX 0D
7171 DRI ROIADID 7772 72TRT X217 1207 1WA OR NV IR°2 P90 WART MYIONR

i) noxw
(1) ®°77 van PO NIR2 POHO ORI 0377 R
iv) 7awn
(1) °n7 782 PO MND RNANT RNVIR KR KW 1NOAT 1172

The x7n3 then says that for oonon the 17 would be v for X0 only if xan
Sxw» but the 17 would be xav if 8w poo 2"5Y Poo

S"p — IR of ROMDID RN

a)

b)

c)

XDIM?ID X777 IS 0™0Y °K7Y and that’s why the & nx asks that the poo in X021 Ry
is only a ¥an poo

The xn3 answers that even for 2™oy X171 if they’re X210 nnd we’re 7P n and
consider that the poo on whether they were o1 counts as a X*2 poo that’s v
for 2199 "1

But o°non say Xnv because there’s only one 50

mpoIn here

a)

b)

mooin at first doesn’t realize that >"w= in 771 772y noon explained that the X019
IS "2y RN

mooin therefore asks

i) Why does the &3 on X012 say that o'»on would be 2>won only if X211
5X7w°7 and there’s no Xp°o0 altogether

i) When there is the same x>0 P50 as in the case of »213 °37 namely X2 poo
™oy and van poo

X" at Imon YRR A"

a)

Xwp to mooIn

i) At the point when nooin asks that for o210 there is the same xp°50 poo as
for *y79m1 *213 — namely there’s also a P50 on whether 2™5y came or Hxw?
came

i) Why doesn’t mooin ask for *"wn why the & 13 asks that the 790 is a yan oo
and not a nx>2 Poo

10) qwnn of mooin as explained by X"win at o3 97 7R3
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a) Nwp by anranto "wn

i) The x7m3x should have said &>7772 that 213 °377 deals with &2 poo 0"oy poo
while X01719 X177 deals with "oy *R7

b) 1wY of the x7na in »21x °177 according to the mvw of on 1an
1) W RINAT ORI WARI YT KT M
iii) 7970 782 PO IMRT MYIHR "D 1NN
S5 P oo S R AN T R RSN TS BRI
c) The 1wy of the X3 in X0 Rn for an 11027 is the same as for »"wA
d) =0 of the v w of an 129
i) nnIpn

(1) onon say even a Xp°o0 oo is Xaw in 7 mw while 213°9x% " holds that a
X{?°D0 290 IS N7V In 70 MYN

(2) 21yoox

(@) uses the words "x°2 poo" only where there’s a X050 o0 where '
71voox calls one P90 a 802 7o and the other a van poo

(b) where there’s only one o0 then q1v°9x ' calls the poo a van poo

ii) in the case of >213 °371 the Xmx says X732 TT¥HR 10 181D because it’s only "
198 who’s 2pon for X oo poo and this is the xipon for »213 °371 because 11020
on isn’t 07 the "an saxw" that follows 9713798 "0 1812

iii) in XDMAD R
(1) There is in fact the same x> poo 2™>y Poo as in *21 °17
(2) When the x7n3x asks

(@) "van poo Rea poo oRkI" and that as a result the case can’t follow "™
TTYOR

(b) The &amx means that there is only one oo because it assumes that
0"oy are *01n XM

(3) The xnx answers that since X2 *nvan *nnd there is also the second oo of
whether the ">y were *>01n so that there is a x50 poo that’s Mnv only
for 71v°5x "1 and not for 7121

11) qwnn of R"wnn at 03 97m 7"R2

a) for>"wn the X013 in X020 X7 would more likely be van poo k2 poo and not
Y PD0 11X P90 *Ri1 because the meaning is “why do you say 7% P50 when it’s
not a ix°2 poo and is actually a yan poo”
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b) While for an 11027 the "van poo X2 poo *Ra" is better because the meaning is “this
particular oo that you correctly call x°2 90 still counts 1717 11 as ¥an P90 since
there is only one poao”

1T

'myou% Xxa1 XTI "1 n"awvwn

Naw IR IR DD ART 15 X2 RTINY 772 2" awnna [R TRy 1 a7
N9 191 PMwnma w''han K909 PAYh whn® B''m vy mwhwsa B''oy
AT IWAR RO 7D ONPAT D YRRNAT D DT RUR RIXIAT 'DT ROMON

T my

Nna 'vapl "1t n"avn

5oy "D RTIN DIIRTD YD 1IAKR DRIAWI 29 19RT 12 KRN yaR '
TV IR NRIIDHA TRV PUART RIR 9D WD ;0 2'aww N
MDY 79D 119X 1D RN BOIRTD PO0RT INMD 1A' 299 RPIT 19T A0
TPy ATR RT3 399D KDY IO 930 M1 DRIARWT R2WNRT
1) xmat.ma7
a) First 798w

1) Ina"a7°001 77w that’s %12 N o1 how much must a person dig if he wants
to be n1vp the 77w by being xno 72 po1

b) m2wn of 27

1) 7910 7P IR WD 72 whonw 0o
c) nawn of Hxmw

1) 722 W10 D3P ROR 7P KD
c) Second oY

i) how much does he need to dig if the 77w isn’t %12 nn»on

d) mawn

i) "7 807 X100 2 RTo" as explained earlier at X0 9 1RTo "7 0N 171 97

2) a"awnat.7197

a) It’s only for 21 that the X3 at .71 77 asks how much a person needs to dig to be
TP a nnMon nrRY n7w because it’s 1anon that a 173 is made less readily for a
nnoon aeRw 77w than for a nmon 7w

b) But for Pxmw — who says even nn»on 77w3a he’s only W1on opn anp —it’s a
muw»s that a person is 7P only 15» 2P iN @ N™Mon APRY 77w
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3) o"awnin our R°x10

a) Both 21 and xmw agree that in a nn»on 7rRW 77w a person is nnp a whole 77w if
he digs "7 X707 RN 2IRT7Y"

4) R"wan
a) Nwp
i) 0"awn said at .71 77 that the axw for nn»on arRw 77w applies only to 21
b) v
i) It’s correct that the second 77xw at .71 77 was asked only for 27
ii) But
(1) once the xnx in its n2wn said for 27 that TR w57 iN NMoN A1PRY 77w isn’t

nnp the whole 77w but 8710 %1875 works to be nnp the whole because it
counts as if he were won the whole 77w

(2) 1t’s possible that

(@) 2xww holds that X710 9 rx7> works both for 77w nn»on arRw and 7w
nnMon because X7°°n 92175 counts also for Hxaw as if he were woon the
whole 77w

(b) And that Sxvw disagrees with 27 only on whether 7nx won is *17a for
X2 NMONY T

X2 X700 72N 2" Th

NITS2 2IWN KUY MY 1D MW IOWR KDT 15 X920 PaN 171''72 'oIn
152 NI AT RY IRBR '3 277 R AR NWS N7 AR PR Doy o e
TP 2RH WY 2" awNDD MWD 2PN WOIT ARY

allTlU bl s)

TR WRsK KON 12 IO 10 KPR 10 BN 1 o vww o '
57D 2WTILTY 11D WA 2907 77ANT M WARTY P''OY "D 1Y Wy PR
S"Y "D aRMY PAY W'D "D 157 V'RRT 23 DY ON 2MIy oty 1new

2"y Nt p''eT 'vinn

17 'n7wn 2T D"awN

M7 XD DO "D TR MORD KDY 2T MWRD "D W Pabwn ' 2 awnsa
"y STIn w''hD TRy TWRD RO
1) mwn
a) 927 NR? PRWH PRI IRYA DO '3 A2OKRY IR PV 20w 10
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2) o"awn

a) nWY WK R DA WK 22057
3) R"wann

a) Nwp

1)  Why do the o>7v need to pay for the loss — presumably the »*rm had
possession of the 77w when the o>7v were omn so there was already 7wy WK

b) yy°n based on foY P

i) o"aw- assumes a case where the P>t wasn’t in the 77w when the o7y were
7°v1 SO there was no nwy WK

c) Nwp
i)  Why then does 0"aw" cite "nwy WK XY 07 IWR"
d) y»n
e) o"awn by "nwy wr> X?" means to say that there is no nwy qwr>

N qT

nerTy A 1My 0 A"

N2 AR 32 1D "D TYT IR NTY AWK 7 17''72 ' [2 7Y 11 7]
T RPN TANTIRT NPTV '3 NTT 2PV NN 0N MR N PR 0oy
KPR 7997 R 1IN DaR 27wa 7OU0 9120 MY XU X3Py M0 'R M7y
TOUITY D120 ARY RUTW 1742 2107 N1TY ' IR 200N RNDR PT0T 20 INaw
TOUITY D197 51977 RY 1IN 'R NITY 1T 0N D'IRWR 7050 9100 1IN 0 anwa
1=y
1) First nnTpn
a) Two o°nX can’t join as 0*7v on the same M7y
2) Second 7P
a) NPy "M
i) For npm saw m7v one pair of o>7v must be 7y on all three years
il) in other words the entire m7y is "nnx m7y"
b) 1127
i) There can be three pairs of o>7v of which each pair is 7°v» for one year only
ii) Because the m7v for each period is separate — "Pp2n ny7y"
3) mwn as explained by a"awA
a) 1327 hold that "ny7y WoW 19K °77 DRy AN TR 2R AwOw"
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b) Meaning that
i) Since nv7y for each year are P> from the n»7v of other years

i) 727 can be an 7v for year 1 and his brother nw»w can be an 7v for year 2 and
his brother "% can be an 7v for year 3

4) mooin
a) N7y '3 oK n"
b) MY DXR 217P DIR PR KDY DWW TYIY 210 MRY RIT ANWRI YW TV SR
C) T°YnY 212 PR 10 M1

5) R"wann

a) Presumably m»oin intends to prove that 1127 disagree with &2°py ' and hold that
the n17v are 12172 since an 7v who isn’t an X of another v can be 7°y» for all
three years and we don’t say he’s 1mxy 2¥KX 219p

b) xwp

i) That the same person can be 7°¥» on all three years doesn’t prove that n17v
IRralyta!

ii) Just the opposite

(1) ®x2°py "1 who says X7 nnx M7y requires that the same persons be v on
all three years

(2) And there is no xmy> of My ¥R 217p 078 because no 7v is supporting in
a later m7y what he said in his first m7y

C) y™n
i) By using the word ">97w" msoin isn’t proving that Pp2n N7y
i) Instead

(1) mooin accepts that 3321 for other reasons have already accepted that n17v
IRralyta!

(2) and nm»ooIn points out — not as proof — that

(@) just as My 957 the same person can be 7°¥» on more than one year
and we don’t say ¥y 2¥X 217 QTR

(b) in the same way because n»7v are P> different brothers can be 1yn
for different years and we don’t consider that their m217p is a 17on

ANYNn XX n2"1h

IR 'RY D T2 ST 1TTRY AR STOOR MIN 'R 1D Inpn RON 772
'29 "3 72 R TRY AN STOONR 2N %W Dan b''oy "5 v &Y
M50} 'R MITYRT TP N7 STTAN SWASMAT 23 5Y AR 19 95 KD 2 M
7YY K97 nvoua {27y} {(Mneaa)) "2 Mty {3am T NIvsaT
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TIPTT NAYPNAR PR ORTY 'K NOT 23 BY O KO AR SIpwnaT yIemn
“1197Y A19972 AR NING "33 5113 PENOTY WY 2" awNn oIt no2

PR Do "9 9 70N RPT RNWK ANT ARPTY 10 1wron XY X177 7''N2
SR OONT Y'ITT OAMINO'RY ATAR RSN MR RWS N7 ayun W o
BT RDR 7% TII0NRR KD M TIION RPT ROWKRT 23 DY AKX P20 RAMEYR
B'R A'"I9Y WRST NT JAND M23T NN "D MW TIION RPT NDWN
tP1YTY 29972 TRORT DR KON aVYT POY 777 PRT 22w wnnd
1) First anTpn — xn»2at 2% a7
a) 3An MPW CIR 03 UKD NI 012 IR AT 712 1901 NP0 MY WK 012 N AT
b) >770n Rp 73K DIPR 2o1NT NN TMTY ANTR 12 YT Y
2) Second nnTpi — X120 at .wa a7
a) There can be no x%°72 7P where "7 '3 'R 779X
b) except that in an *x2a >721m7 XX there is a valid apm if 73 'R g%ar and 7792 aman
N'7'a
3) X ma here in the x1pon according to a"awn
a) Both for 777 21 and for 1mm1 an
1) AP o =" 2R PIYY 99K MR TARY 2R PO 779K IR TR — 'K 19IN]
i) 7T RN RY — "7 "2 799K IR AR 73R 779K MR TR — 2 19N
b) Because

1) 0 'R I9IRD RO — M 707 K KD W T°707 KPT RNW2A '2 19X ang Xnws 000"
"T700 RP XNW X702

i) "SWIRT WONYIR WD WWH 0T P2 — WD S0 P2 0RY RO R
4) x"wnnn at the end of x2777 7"%2
a) The ap>v difference between 'k 191x and '2 1 is that

i) In'x 19 both o*7v agreed that 1°01%1 179ox — and because o7y don’t pay
attention to whether v 7y91 or WY 7vAr it’s not significant that one v
thought that v 7958 and the other thought that 1>2ww 79ox

i) while in '2 19 each 7¥ is 7°yn that the P 1w were 1972

b) the rest of the w5 of the X3 — Tn 72707 R? M 7onOn XpP7 XNWw2 — isn’t part of the
P17°1 1p°v because based on amp 12 ywnne M there is a npr if one 7v is Tyn on "2 'x
's and the other is 7°v» on "1 ' '7 since each is 7°¥» that 191¥1 77o% without 21977

5) x7m3 as understood by mooin
a) 777 27 says the same 'R 191 as for o"awn
1) 7PN 2R PIIVY AR IR TR 2R PO 79K IR TR — 'K 19IN2
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b) xwp by yam1 29

c)

i) Ifit doesn’t matter to you that they’re 777X *Wnon On P 1Pun

i) Then there should also be a 731 in the following '3 1938 where the o*7v are also
777X >wnon on which years 7%5x and on which years 77112 nn01n

(1) 'R A2 A YT 2 AR WAIR TTRY N T2 M2 3703 7R A99IR N TR
Vn 'l

(2) because based on 1177 21 on v 77. each is 7v» on valid npi “aw
v1n of i '

i) 30 'R 1DIND RO WA T°7707 RP KD M 7700 RPT XOWA 3 19IN2 2N Xnwi von"
7707 R XNW X772

i) "MWIRTIONYIR IR? WY VI P — WD 0 P2 WD RIK RN

6) X"wonn at Xon7 7"K2

a)

7IX*2 somewhat similar to what &"w=nn said earlier for o"aw also applies here for
nmoon

i) The apy difference between 'x 191x and " 19 is that

(1) In 'R 193 the 0>7v don’t count as being wron each other because o>7v don’t
pay attention to whether v w31 Or WY YT

(2) while in 'x 1% the o>7v are wonon each other as we’ve set out earlier

ii) the rest of the nw% of the X3 — 2n 7on0n RS 1 701 RPT RNW2 — isn’t part of
the P n “p°v because based on 7P 12 ywy ' there is a i if one v is 77yn
on 'x "2 'x and the other is 7°va on "1 11 '7 since the o*7y aren’t W non each other

7) X"wonn at anvn ROR "7

a)

b)

ToRY
i)  Would there also be no npr in '7 9% that varies from 'x 191x as follows

(1) 2oy SRS 1T 2 A2 A3 TR 90K BTN 2N IRINFAR — T 19N
TR A2 AMIM T2 99 2N

72wn
i) It’s 7anon that there is fp1i in '7 1918
i) Because
(1) While in "» 191x at least one 7¥ is 2pwn and there aren’t two 7P 7Y
(2) In'7 9% although one n> is apwn the other n> is 7°v» on fpn "W
But in '77 19X that varies from 'a 191 as follows
i) 172 790K DOMIN DOIWY SHREFARY 17 IR T9OR DR DI SRRFER — 1T 19

ii) It’s a poo whether there is np1n because although each n>is v on an 79°x
n2>72 still together they’re 71 on n91¥7 1719°0x for 6 years
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T2 QT

RN'X N'YA 'NXI XA

RYRW RDINT X7 2™ "1 XPIY R2997 Ri7Y N7 R""2aN) X923 [2 7%y 11 n7]
19''mY 2R NINTONR 'S "D

|'oniva a" TN

By B''op "0 XA TR P2 PYAR WIT SN T "D PEmwa 772 'on
TR TR 02 PRARY MY YA KD DRINWTIR DRINWT RTIADND 7O0 ROWPT
RD IRAR MRS PRI KRR TTWRT D PRWR DRIDWT 1INR N7
712 PR 7921 7IRIBR 19T 12 WO P2 PRD DIYH RI192% NIRRT M1 RO IXN
SRR T T2 IR AN 19 J1MRIA 1T PEMIWR TDT KT 2T apYen
319D 19 NORT O''Y RIMAT® D''RY 1ApR NMIDDINT W'D DY MMOKRD 91297
72 I9R2 795R KD 711 179D RIIT X277 PEMY NMIP PAY TR PEMR P2
29771 PIYDT K'Y IR RIT R P0RTD WM DR TR AP PT
N7 R''7 29 ONYTR POONR KDT RO RTIADN DA NI0M2 19DR R
MWPN NER 2'TURT PR 107 712 W PR 197 72 PR 12 300D RY 'Y
R'YTY PRI PPT 372 PR AR 0INT TR PEMRT 7 T
a) First mnTpn — :2n a7 XM
1) 9RMW —pm 2 we anmw
i) xwp
(1) 7Pt PRT YAWNY MT MWD T AMY IRMAW AR
i) X277 Y70
(1) npm R2°RY T°9PT 72121 177 72 NORT X
(2) npIn 82P2Y TOP RDT P90 1T 12 N7 KA
2) Second 7P — further on :an 77

a) The reason that 7Pt 12 X AN is that Ry 222w '3 17207 Wnnwa? TR mIn 0Ny
X177 wnnws 79

3) mwn here
a) XM
i) 7P 1Y PR %A An02 TRvn Bh
b) o0
i) 7PIT T NNRn? aXenn ey

60



4)

5)

6)

7)

X3 here
a) Nwp
1) KD RIW RN KW RIW R
b) mman
i) vnwn oMW W TX¥n2 X7
(1) >0 7MY 1POY 7P KT XYM
(2) ¥omma POy M TOPT RDD
c) Nwp
i) 7P RY 27D 7TV
i) %% 012°% PNOKR 7 AT ARIT IV POMWT TOPT AN
d) y1°nof ka9
i) In fact pomw aren’t >1op
ii) But the mawn follows 71y°%x ' who says for 971 even 70 is X172 MOR
maon
a) Nwp
i) Why is it relevant to npin that onw are >79p

i) We established at :2» 77 that 10 177 PR anyway because each expects to use
the manmwn 2xn alone for some period

b) y1vn "aRa1 T

i) the X3 here deals with a 7¥r1 where we don’t say "o°nys" and the 17 depends
on R7°9p

ii) The x7na there deals with 77w where oy does apply and that’s why there is
never spIn

R"wnn part 1
a) Nwp

i) Why doesn’t the X3 at :an 77 answer the 77°no on the mann of Hxnw by
saying 77w3a R 7X¥n2 K7

b) y1n

i) It’s vnwn to the xna that Pxmw deals with 2xn in each xn
R"wAnn part 2
a) Nwp

1) To answer the Xwp to jam1 27 from the mwn on M7 Pomw why doesn’t the
X7n3 here rely on the X120 of &1°27 at :2n 77 namely
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(1) yama 20 deals with a 191 197 12 PRW 20 where *79p X7 and that’s why
there’s no 1P

(2) The mawn deals with a 7% 197 12 wow 181 where >79p and that’s why
there’s an nX17 MOK

b) v

i) moown at X127 7" proves that the mawn in o171 applies even where 197 72 0%
PN

i) That’s why X127 needs to be w-on that the mawn is based on =n» and not on
X79p

8) Twnn of X"w1n — Xo77 X7 DaR
a) Nwp

i) To answer the xwp at the beginning of the X*»10 here of Xiw >kn Rw KW *Xn
XDD

i) Why doesn’t the X3 rely on the yy°n of X121 at :an 77 that
(1) 7pI XX TOPT APIPM T°T 72 NORT KA
(2) npIn X221 TOP RDT AP9N 1T A2 NODT KA
b) v

i) At the beginning of our x°x10 the &7n3x already realized that the mawn of Pamw
17w applies also to a ap1on 1712 PRWw %0 but the &3 didn’t yet realize the
717°n of X121 that the mawn is based on 710”1 and not on x7°9p

il) But 81727 at :an 77 already had in mind his y17°n that the mawn of 7w Ponw is
based on 71" and that in fact pPonw aren’t >7op in a P90 17 92 1PRY T30 and
that’s why &1°27 there could say in a 12 1°7 12 PRW %0 there’s no 7PN

.M T

|"'xn 2" TN

"2 RUN 79712 179 77207 KD "1 7327 1995RY N0 1R 7''7a [N Ty m 0T
S1D9T 277K IRTI 2D 'D 71T '0IN7 2T 'Oy "> MaTh C1hw
T '1mY 9172057 WTIIR 17107 1D T9IDR RRWRY DY YTV 112070

‘N T

222X 2" T NIDOoIN

HP "D POAY TP PUD2 YRWRTS "D AR 772 [2 7MY M 7]
SHIR IN 2"AWN RO MWD POAY WY P22 A"'DT ANTI OIaTR

62



QW 15W RIA3 NINRFOIND 77''51 1327 FIIPTS A2IN 50T KUK 1339 ;7191070
T

ATIn 2T NIvoIn

7''5Y NE ' DT WM R oy "D A ' D T PAvsY o At '
RUTR RAP WINDH YPIDRY VMR PR AW WKW Y0P 1Y PRY
A E-R- )

.01 Q7T

viNnA 0" T NIDOIN

' 71 92O BnDD 2NN Pw 2% "o v 772 'O [R TRy v 7]
WY PaYR TI9 '52 7' 9D "D RWRIN

nun“? n"T NIPOIN
920 B"oY "D TIAYY RPW 7D 7TURDM STOY AN 10 "7 un 7''7a

nov TV n"T NIYOIN

512° EVAT 1aNow PR T V' RT "'oY "D e avuR R e v Ty '
B9 51957 POTIT RPR A1 '3 IR 12 Pnis DRpnt o 29917a 29927 mbnb
('™ 2T Yyan ninnb

2'791n7T X1 TN2 NIDOIN

N7 997 sk PR 'Oy "D K72 KT NWDY m5Y Pa M0ERT XM 7''N2
ORTY RT3 WRY '3 TIN 392 779093 IOV DR KDY NDR oY Pa ahnnT
S'RT T 'R MR RNDRA 779D 9AI0EY SO0 RIUIT RRINT RWT NOWIP IND
"3 MRY 7DVAT NVPN K772 KT RNDR 7TNID YAI DI ABUT 2190 XN KD
2" NITAY BIDY IR PRI T RDT A TIN2Y NITAR D10 RI T02 ROITRT
BID97 ARP TEWAT "D NINSD BV 192 WERT XM 91T 2579927 DR RN
B9 MRTT DYa2 AT DY2 T DAY 219 1RT MR NS NInnY
byaa 2T YYa 1T NINRD 212% NMTDaY DR 9157 19N TDUaT NODON
SARP EVAT 1027 TRINA M9 IRAATT 01 RPN K72 NTT WARD RN AN
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1) First on1pn — mawn as explained by the mvw of "wa9% wo 799" in mvoIn

"3 NRY '3 70
ROXITW ANT VA2 AP PO MR | ROXIW AN Dvad apm bY b qm173 MDY TV T
™o ™o 1OV N X MDY
amn axT Hva TN R A HYa
AT 92 apm YH o AT 92 apm YH o m19un NNd
M IR ANT P2 TMA IR A 9va

2) Second TP
a) After oo s the 27 %va has a nprn for a large 11 that’s own Y W noY
b) a1 5%v2 never has a npn for a small 1
3) 7w of mopoin that X"wmn is xan below
a) Nwp
i) mown Mneb nov P HonT XM
b) y1n

i) X7 K97 mOLA NIND 2R XM OYI2 NMINND 2127 AR 92 C3TaT MOvAT XOPN K2 KA
"Mt 9120 PR AP

4) R"wImn
a) Possible 722 of the x°wp of mooin
i) instead of being p%nn between a rov 11 and a nowvn NIND 11

i) why isn’t the mawn instead poma for a mow 1 between '3 anR> when there is pm
and "3 7.0 when there is no npm

b) X279 to the 72 of the X°wp of m»poIn

i) Why doesn’t mooIn accept that the mawn wants to explain how '3 anx? the 17
varies depending on whether the 11 is nov or nown Mno

c) possible mx2 of the yy7°n of m»poin
i) the mawn prefers to be P> between a nov 1°1 and a oV NS 7

ii) to teach that all depends on whether there is nprn so that after oo1w s the Hva
271 can be mn to the axni Hva for a mow 11 but not for a novn mns

d) ®o7°s to the mx°2a of the y1°n of mdoIn
(1) For a now 1 itself the 1>7 also all depends on whether there is npin
e) It must be that the maoin means the following xwp and y17°n
) xowp

(1) the mwn says that the 37 Sva can be mn if he has 7P and he can’t be
amn if he has no npmn

(2) why doesn’t the mawn also teach the reverse: the 1¥n7 Hva can be amn if
there is no 7117 and he can’t be amn if there is npmn

3 MRS | 3N | |
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I9 R 27 Pvak apm Y R T2 XX 337 9vak apm W Y 15Y 1?3 MOV TY T
anm 237 b2 | MM IR 30 Hva M K 3 9y | amn 30 Hva DL NV W
3T 9¥2Y apm Y o A1 5v2Y apin DY b novR Mo
MR 1K 3 9y | T %0 Y2 K 2 ova | T %0 Y2
i) yrn

(1) Whether 71 5va can be nmn depends on whether he has a nprm

(2) Whether the 1¥r17 5va can be 7mn depends on whether the xn 9v2 has a
P

(3) The mawn prefers to teach how the P of a person (the a1 %v2) affects his
own 7xnn instead of teaching how the np1n of a person (the a1 %y2) affects
the nxnn of another person (the 2xn Hv2)

;01 7T

Yo WRNWY AT DA D197 IR NRY 10 Bya MERY ''Ta [2 Ty v 0T
YORY NITAD DIDIT AN FTRIDT 2IVK ROVIP T IR ROWP R innR1 B0y
JH''mY X7 DYan AAT PYa 910 5D ROOR Nn H1o°

N"'N 'NXn 2" Th

NP 1227 B ap B9 "D DR R''awNR wp e "D RN ONR 772
PO W NIRIPR '227 R VIWD N27 ORTY N7 RWP K annR1 o "o
5T B"'9RT AW XY 75 1R 2w mIwyd XY 'R {33075} XInTs BY
N7 JWIRWRY 29ND 'a2 KON 97 Inp RPT 2wn "o mmpn 'aav
RIDP2 923 022 ER RDWT 9077 MMD RDIN A1 N9 N2 RTIRGN
"SR NINIPR 2T RN2D T YT A1 TWRRT 3190 90D Bar T19% WNURORY
1O RY NAPR 227 B''ART MUIsa RUR 20D pannd ' XD 1192
ey
"% 7''D21 %o M2 NIBN D WO 7D KD 12 ROPIPRT 19 IR 7''N2
V9 WO N7 PONIRT VAT 2OWT PINRT 2OMR 2IWH PR RN NYT
PENIRT AT 710 T 7o RN WP KD TwRRnT 100 'R 12 nienw
B DOIRD PR AR 1A TR 0DV KNI INNIT 12 MDY 1B PRY
A1 P17 MINT 12 MIDNIR WD WOR PENIRT INMT MWD WD PInnY
R 2"R7 9" PEDMWT AIM2R 11927 N2 DY KMAT KDY R 'ab
TR IRT VARPY WDV INIAD 957 19927 R KON PN N7 1N B
T2AY BRT WOR N7 VARP RPIT 2010 2912 2 MBI 1R PR3 RN
12''NT7Y 9257 RI9T 91 1 an

1) .oA7mwn
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2)

3)

4)

a) "ohaw uwy XY X"
b) We’ll explain this mawn below
mawn here
a) 1MW XA PR OTR 1ND° XY
Xna
a) wpn
i) K2 1137920 9802 190K POMWT XY ROR R
b) %3N
i) MRP ROV R?

(1) nova Xp X7 M0 M0 [ANI97] 9 IRRT PEMWA XM 92K K97 17720 TEAY ROV KD
¥ RN PYIVER?

(2) 12°9R RNWiT TR OYIVIR K1Y T LA KITRT TY [TTR] D MRT 12 vRwn Xp
710722

n"awn as explained by msoin
a) R1nx M of the wpn

i) The mwn says that 12187 who isn’t a \mw can’t open a N> into a 7xn in which
1vnw and 1% are 1omw because then he’d be p 1 both 1wnw and "%

i) That’s why the 7wpn asks
(1) why is it relevant that j21%7 is a P°m to 0°27 meaning nynw and "

(2) it would be a greater xm121 for the mawn to say that a person can’t open a
1om into 2xn of "1°an" meaning a o who alone owns a 13

b) xipon of the 1370 as explained by X"wmn at 12 axI1 7"Ra

i) The nmiwn deals with a different case altogether — namely with the case of j21x
who is a amw of nynw in a 7xn and is already Pynw P> from Tnx opn
meaning from the rino of 12387 into the -xn

i) And the mawn teaches that still 1218 can’t be nno a 171 into the 2xn to now be
v poma from nimpn 2

c) Nwp

i) The mwn at .o 77 already says "ow nuwy® X2 R" to teach that a person who is
permitted to be p>1» another person from one op» can’t be Pt the other
person from nmmpn 2

d) yrrn
1) The niwn here goes beyond the mwn at .o 77 to teach that

(1) "o nwye k7 R" applies not only to a second nind in addition to an
existing nno but also to a 7"%m in addition to the existing nno
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(2) Because the pro1 can say 17798 RNW:T 707 SVIVIR K1Y 717 1802 RITRT 7"
">n1n022

5) X"wonn at1m axan 782

a)

b)

Xowp

1) Why didn’t the 1¥7n answer more simply that the case of 121%" being 1 his
Nynw amw also involves only one priand so is no less a X121 than the case
where 12187 1S 1702 21 who is a 7n° and isn’t @ amw

N

1) Still the mawn ought to have dealt with 17727 ¥ where there can be no myv
that the proais a 7n° instead with Ponwi 23 where there can be a nwv that the
mawn refers to 123%1 who is P12 a o221 of nwnw and "2 who are panmw

i) And keep in mind that

(1) if in fact the mawn were to deal with 123%7 who is P> a 227 of pwaw and
»1? who are ponmw

(2) the xwp of ywpn would still be in place that it would be a greater xn12n for
the mawn to teach the case of »°an who is a 7

6) nmoon — k2 of °"7 as explained by X"wann at XK oK1 7"

a)

b)

wpen

i) The ywpn realized from the start that the 7w of the 3xn on the case of the
mawn as explained by o"awn is correct — namely that

(1) 1w is in effect i only 1wynw his amw who is a 7r° and
(2) the mawn teaches that oo1w nwy> X2 71 also applies to Non nono by a amw

i) The ywpn asked why the case of the miwn is a greater w17°r than 12387 who is
P11 his 1wnw 17°an who isn’t a anw

%N

i) The j¥7n answered by pointing out that in the case of 17°an there was no prior
P1°7 while in the case of yanmw there was a prior P> from another opn

7) xwp of X"awn to °"1 as explained by X"wann

a)

b)

Note that for the 7vw of >"1

i) The ywpn already knew that the mawn teaches the wyon that nvaipn '2 applies
also to 17711 nrono based on the 8720 that "n°22 19798 RNW: 872 RITNRT 7"

i) The j¥n explained only that in the case of 17°an there is now a pr°i7 only from
one oypn while in the case of panmw there is a pron from two nmmpn

Rowp

i) Then for the v w of *"1 why isn’t enough for the Jwpn» to say simply ynwn &p
n1 Mmpn 227 12 without repeating the full svw of the mawn that the ywpn
already knew
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.0 T

"y 'xn "7 0"AWN

N2 QDR T RVTITT "D 90 ORMY 17''72 2'awana [X Ty © 07
7990 IR RIVOD IRTY YRR 377 B 0P "D 2R T AW 10 R MY
12 7TRIPY 1T2IA2 N2 OMARY VTN PR N2 YNMRY PIRY WOITT INNON
N7 INNER FTORY NP MR RTIADN 1IN % R DaN 72N T
'DIN IND PRT W22 N2 D POAR MWIWDA ROV W2 VI PENY

121197y 2weh W vhya Bho Pia

1770 "Ix0 2" TN

DY IRP PHYT N Py 12 19PN 29007 "D W97 PPIRT 1772 'on
RIS DY RN IR AR PVAWD 1D DRI AR 2R IR SR
2"y 29PN M1

0971

ANN'X XOO'XI X7MNa

22757 AR MORT 21D 7 110 9" ANR RODIRY XA [2 TRy © 7]
"2 DR 207 212 BN ITY ORT MR D' 1D RN20K D' KPR "D
ROR 2972757 71957 1R IRTIT 2" 2T XU 2O "D ROXIY ORT '
NOZI D12 3371 " P MITRA RPN NORITO2 A9D K97 70 N=20K 2''
TITD MW T ON DAR DRIDT I MOKRT 0D RIZITD W 01D W7
MIRAT AR D1 ROZIN WOR DIST PNIST IR A" 702 1IRR 9T BN
Y ROZIM NOR D12 351227 DNISM IAAY MW M20T7 RIBIA N 21D /R
e AARE LY
1) mwn
a) XXM DWW TIND P2 0N X0 OK KR 1"'77 712 072 19w ROW "D PIT PRSI PR
2) X
a) MY RVINR
1) RNV W 1R RO RPN IPW TINY N2 01D
b) nawn
1) XXM 0P "
i) RXM IR WPY W
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C) 7% 7720K KON N2 M MY 2Py M YR
i) 123Pn% 22203 AR 19D 93 ROXIM DIOW INR?T 210D XY YD PIT XX
i) 20mme aR WORD W I IR AR 1M ' NNR RO
3) H"wann
a) It’s not necessary to change the xo=x in M " and woph w for xo°%nn 12
b) When 311 "1 says "% 013" he means

1) Once he was o113 all he can do is to be 1 X°x1 whenever he wants but he
can’t be 1pn? 2703 TN

i) When w°p% w1 says "R°$1m 1°R 012" he means to ask this question:
(1) How can you say 1pn? o°2n3 271 1°% because he waived his rights

(2) If so he should also have waived his right to be °1°1 &>y and the 17 should
have been X212 19K 013

4) R"wImn

a) 9"wonn is correct that there’s no need to change the xox but his explanation is a
P

b) It’s less pr17a to explain Xo°%1n 12 this way

1)  When 31m '3 says "x*x1m 010" he means that after a person is 111 0115 he’ll be
able to be x°x1 the 11 again because the setback will always remain available
since he has no right to remove the setback by being 2>1nn his 5m>

i) When wp% w1 says "x°%1 1Kk 012" he means that after a person was 111 0112
he’s permitted to be 2’1 his Pn15 and if he does so 11°1 X% 1°% because by
being vt the Ym> he eliminated the setback

*k*k

2°N237 NPT TRV 10T
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